(Understanding the Struﬁt{

of Arguments)

0
Statement-1: KQ! Falschood are
predicateg of cnis
St II: Walidity and [Invalidity are

of Statements

6 Eﬁnst appropriate answer from the options

f the above statements, choose the
given helow

e 2 s fow o €

FHAA-1: 7 T 3\ 7 & fuis )

HaA-11: mmmm%mt.

IUdvh HEAT & AeE d, o R e R

i & Waw IUgh I I TAT HITAC:

(a) Both Statement 1 and Statement 11 are
correct/F AT | 3T |1 &1 78§

(b) Both Statement | :md Statement 11 are
incorrect/ &4 | #HiT 11 ST T i_{l

(c) Statement [ is cnrn.ct but Statement 11 is
incorrecUHIA l'l'-l'ﬁ ﬁ-‘_[‘ﬂlﬂllﬂ‘-lﬁ‘?l
() Statement | is II'ICOITL(.'[ but Statement Il 1s
correct/FoA | e &, feg Fo 116 2
NTA UGC NET/RF .!u:u.' 2021(26-11-2021 Shifi-1)
Anms, (a) : IET KU M0 FH FAT @ ¢ HE
ﬁﬁm(m)mmmmémm{qﬁﬁ}
49 @ wdw @ A T oW uE w9 d 9
ATl F1 a8 2 & e snarars a9 feed 2=
femm i &1 @ gfs @1 Fed @@ adaa @ AW
W AdAE & A WA R o @ 3 9
Thaad, a7 wigfa & fae &g @ @ e
FA 8, WG FEend 21
T TR G (7)) i P ad fen a2
T 7 FEEn & 4 " 99 9 W9 8 g6 2

2. Name the fallacy committed in the statements
below/ T ST T =TT AT :
"All text books are books intended for careful

study.
Wit Wiy Y wreuTigds snmaw & fag
s & I w=d TEe wauHide
T & ferw arfida €

Some reference hooks are books intended for

careful study.
ard: FT e g uey yes £

reference books are text

Th r\ ‘
=
se the correct answer from the options
i

ven below
() Affirmative conclusion from Negative Premise
T YR a0 § GHOeE

(b) Exclusive Premises/37=4 AR a1

{¢) Existential Fallacy/3mmeara @& 3@

(d) Undistributed Middle/3fEmft &

NTA UGC NET/JRF June 2021(25-11-2021 Shifi-1)
Ans. (d) : ST &7 OF TS dha & (99 & 95
T Y Y FA UF FEEEA | faie a9 EE e g
3A: 394 28 T 0 e o ade
3. Under which of the following conditions an

inference may be categorized as Kevalanvayi?

0 IO @

Faerad! & w0 W siufiga femar o e §7

(a) When it is based on middle term which is
only positively related lo the major lcrmﬁﬁl
7 W UZ W A @ 9 §ET UE § Sad
TEAE w0 F WEg 21
When il is based on middle term which is
only negatively related 1o the major term/Si9
7% WA UR W HMIA € W g TR W Faa
THTAE F9 ° Hag 2
When it is based on middle term which is
both positively and negatively related to_the
major ferm/S/d ¥ WA UE YU HHWRA @ Al
TR W F FA FEOEE 3 TR G
®Y ¥ dag R
When middle term and major term have the
relationship of identity (tadatmaya) between
them/Si9 Heq U 7= U2 | §e dEed
F FAY &

NTA UGC NET/AJRF June 2021(21-11-2021 Shift-1i)
Ans. (a) : SHaETAr- T TR T TR W TG &7 =0
A U | &ad AHEE 59 A TaE 1

4, Which fallacy is committed in the argument-
"‘mund is a quality because it is visible”?

ey T T § e 9% WA g weA o

HIT-|T TeaTaTy §7

(a) Asryasiddha/>THENSS

(b) Vyapyatvasiddha/@mam=iag

(¢) Svarupasiddha=Fafag

(d) Sadhyasiddha/AEAEZ

NTA UGC NETARF June 2021(21-11-2021 Shift-11)
Ans. (c) : "G TF U ¢ FAF @ VAN 1 W
A § EWENHE qee 2

(b

—

(c

—

(d)
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5.

2

Match List T with List IT

=it-1e Jva Feii-11 &7 e sifau)

List 1/g<it-1 List [1/=T-11

Ste sagl' Arpument Propositions

(c) Empalhjﬁﬂﬂ‘lﬁf (uwedt)

(d) Pluralism/@gerdrg {lﬁzﬁ—ﬁ"-ﬂ
NTA UGC NET/RF June

Ans. (b) : wiana'r{aam

e i a0 sftada § am 9
A. |Affirmation of the |(1) |Wherever there|| ywr 3z :@’Q TEA @ ﬁi I ggfa @
thesis s proven/ is smoke, there is o
fire ns in thc W, mﬂmam?l
oaTioTe & 9 o Kitchen/ST&T 7&. Match'List T with List 11
g&. -@n{r 3 4 List [ List 11
E& In Square of Resultant
apposition
- A. If 'Some flowers are| L. 'I' is false; 'O’ 1s
B. ?;i::t;l:cnto M A h:llls fire 0" pink' is False True
B. IF'No girls are birds'| 11. 'A' 15 False; 'E' 15
' 31T'Ttl is True True
C.% a;1hamr:le (1IN l'hL'Fc[nre tlaeli;e C. IT 'Some boys are| ML T is True, 'O' &
erlyving rule is fire on the e
a“ bl hill% . TS D ll.ll?l t';:‘!%lls::(laiilnles v 'FF?Is:s False; 'I' 15
SETGET ol _ T I R - are sweet' is True true
D. |Statement of thesis|(1V) |Because there is Choose the correct answer from the options
to be established smoke given below:
b g T Telt - 1 @ g - 11 A gt wif
w1 il
ST T Hew ( & =S : }
@ (A)- (1), (B)- (D), (C)- (IV), (D)1 il i,

(b) (A)-(IV), (B)- (L), (C)- (1), (D)-(I1)
(c) (A)- (11D, (B)- (IV),(C)- (1), (D)=(I1)
(d) (A)- (1), (B)- (1), (C)- (I1), (D)1V)

NTA UGC NET/AIRF June 2021(20-11-2021 Shift-1)

A. e ‘FTo F@ TEE
g, T €

1. ‘2m' Tem g, s
T £

B. IR F¥ ‘Tzl w=i
e, wTE

Il 'C 7w 2, ¥ ud
g

| A.(i) ’ it & B

(Arguments Forms)

What is the name of the concept to describe the
magnitude of gains lrom any given change in an
educational practice and thus to predict what we
can hope to accomplish by using that practice?
I YAT H A T g

Tgfy | o7 uftads | @19 @t AET @ auia
ferar s § ofit 3% yew @ qatgae wmar
T WA § TR IW ugfe o Iwdn o gW =

T QU A HT I HT Hhd §7
T (ArHeTm)

(a) Argumentation/
(b) Effect size/a TR (3HFE T15)

gﬁﬁmm°gwﬁﬁ, C.a% Fa wes oF| L o @ & o
stfiyerom 3 wfor i qerd W A 2 =ﬁwﬁ ] @m _
% w9 i gfp D.E:fammzﬁmlv.é oA 8, IR
FOT FT T Filfss =l gt 1 CA i . T 2
fafea fram &1 3ema & el gl @ & ael am et fay g fraeat o @ W@ I g

Tl & o4 e H) (a) A-ILB-1,C-1V,D-1II
iy & SareT AfEReT 9eTEl 9 A 2| (b)y A-ULB-1V,C-1I,D-1
& FT ) () A-IV,B-II,C-1,D-TII

(dA-ILB-NIILC-1,D-1V
NTA UGC NET/IRF June 2021(01-12-2021 Shift-1I)

Ans. (a) : @mﬁa‘lwwmé—

afz ‘g B ‘w e €, Y wE A

T 8, T 8

afe 1§ ‘wga ‘I’ e €, 3 Wl R
wf 7§, A9

W gEagHd F T 8,

T ¥, oM §

ofe ‘ofi afewee ‘ard’ o & '3 e 2
W2 g, wd d

8. Given below are two statements, one is labelled

as Assertion A and the other is labelled as
Reason R,

= € waw f2w e §: s sfrmew (A) & wU
# 3frt T IHF F (R) F Y
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Assertion A: A proposition is a statement about
observable phenomena (concepts) that may be
Jjudged as true or false.

e (A) : THama Bl T S e
(§99) & fawg §i s @99 Fa & 59wt @
O T T T £

Reason R: When a proposition is formulated for
empirical testing, it is called a hypothesis.

®HAU (R) : ¥4 ™ F1 Wi
e wmm & fau f@m s 2, 4
VTSR TaHI gl € | &\ ;T
In light of the above statemests, ¢ the
most appropriate ansy %%he options
given below
T FHa ‘, few farameui W
o udt :
( rrect but R is not correct
a%} 2 T (R) W 7 2
) Ais not correct but R is correct
6 (A) 58 i & i (R) 7 2
(c) Both A and R are correct and R is the correct

explanation of A/(A) R (R) 3H1 T & 3K
(R), (A) 31 HEr == 2
(d) Both A and R are correct but R is NOT the
correct explanation of AJYA) afi (R) &1 &
£ 3T (R), (A) 1 W8 =me 7@ 21
NTA UGC NET/ARF June 2021(01-12-2021 Shift-11)
Ans, (d) : AR TEEE B o i e
(tve) & fawg # uw FEq @ € 9 wE W mem
I W TEA & U9 ¢ ud fea e wRvn 9w e
faE & sl i aiew & faw fEn s 2,
Al 98 WEhed T g &) ff T9 ¢ At 1 sifwa
&7 AT A A 21 Fa: fawer (c) 9 21

9.

Given below are fwo statements
21w feu o §:

Statement I: Two contrary statements cannot
both he false, _ -

YA | ; g faalia wa=i d§ ¥ ST o 6w
wqawd

Statement 11: Two contrary statements cannot
both be truc.

wuA | ; & faula sual § & =1 9@ A8 8
HEHA B

In light of the above statements, choose the
correct anm_gn:frum the options given below

wHYHT & ¥, =t=r feu g faweat
¥ Wl IO @ A st
(a) Both Statement | and Statement Il are
correct/EEA | AT [l &H1 el 2

(b) Both Statement [ and_ Statement Il are
incorrect/HAF | 3R 11 EFT TTed €

(c) Statement [ is correct _but Statement 1II is
incorrecUFHaA | el 7, ii'fm; T [| e &
(d) Statement [ is incorrect but Statement 11 is

Ans. (d) : T ful® F44 # T 341 7em
Fo e € Fifw @ Falin w27 239 Tem 8

& fawda wa aF W A
e faweq (d) 59 2 a\

10.  Give below are tntéments
4 TX@%
S : Asamavyapti corresponds to the

iv | Affirmative proposition.
-1 al'dmﬂ%r wdETdT  AEHTE
ddhaTad & TUEY §

Statement I : Samavyapti corresponds to the
Universal Negative proposition.
FHaA-11 : & wawy §
In light of the above statements, choose the
correct answer from the options given below
21 e o, et foqu o faaedi
o F T I E WG i
(a) Both Statement [ ond Statement 1l are
true/®4F 1 3 11 1 G &
(b) Both Statement [ and Statement
false/®aA 1 3T 1] 141 31594 &
(c) Statement [ is truc but Statetment IT is
false/®a9 1 77 &, fFeg a0 11 3y €
(d) Statemet 1 is false but Statement 11
true/F4F | 379 €, g 99 11 99 21
NTA UGC NET/ARF June 2021(30-11-2021 Shift-1)
Ans. (a) : 3efa wEd=nll TEReTE ddaee & g9ey)
21 aur e FveE fhaew & T € s e
H4A | 747 || 7 81 30 faswed (a) 78 21
Il.  Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as

Reason (R)

o @ waw fau WMt wm sfhwaw
Assertion (A) F w0 afw LY IAFH FHRUT
Reason (R) & ®TH :

Assertion A. In 2 valid categorical syllogism,
the middle term must be distributed in at least
ONc premise.

faeRe= (A) : U du fadyy = o &
¥ &0 Um amifter § ¥ s@vd | g

I are

15

Reason R : The conclusion of a valid argument
cannot assert any more than is contained in the
premises.

WU (R) : 4T ek o1 Fyeny 36 ST araat
o fafga forend & avftres = g

In light of the above statements, choose the
correct answer from the options given below

%, e few o faweat
T W WE IFT T AT WA
(a) Both A and R are true and R is the correct

explanation of A//(A) 3 (R) 3 o/ # 3R
(R), (A) #1 Tt =M 2
(b) Both A and R are true but R is NOT the

correcUFT | TTEd 2, ﬁn‘ﬁ T T2 correct explanation of A/(A) (R) 3FT |1
NTA UGC NETHRF June 2021(01-12-2021 Shift-1) & T (R), (A) 3 Tdl w7
NTA UGC First Paper Planner Volume-2 244 YCT

Scanned with CamScanner



(¢) A is true but R is false
(A) A &, T (R) 34 21
(d) A is false but R is true
(A) 399 8, UG (R) W &1
NTA UGC NET/RF June 2021(30-11-2021 Shift-I)
Ans. (b) : F(uFae, “UF 99 Ry =g a9 § @5 9
mqmaﬂuﬁmqﬁwmmaﬁw'ﬂmﬁm
T R 9y T W el 3 e amd | fafea
freed 41 sl =@ @rm” 29 Afimgs 9 RO 26
feFea (b) 771 21

Choose the correct answer I'rnm the nptmm
below: /e gy Ty faremeat

(a) A-l, B-11, C-lll, D-IV

(b) A-1L, B-111, C-I, D

(c) A-llI, B-I, C-II, D-

(d) A-1V, B-II, D
NTAUGC June 2021(24-11-2021 Shift-1)

/ : T0 WEK 2-
@ £ - () O3®A &, E 369 2
CAT & - (Ill) A3FE 8, [ 389 2

() 13 g - () ETTE OFT &l
(D)aR oxwA & - (IV) EHEd ¢, |1 6§64 21

12. Given helow are mo st
Statement I: % propaositions
connot both
Statement 1

co th bétrue
1t%9f the above statements, choose the
6&9 ropriate answer form ihe options
given below
o= g o
HUA-|; 31 Iufauita warEat § 9 e e
=l & WA €
wHIA-11; I Iufafta eareat § F SF0 @
3Tayy W= AT Agu
T & e o, frer fau o faeme
W | | I wA FA
{a) Both Statement I and Statement 1l are correct
Faa | 3 11 A T E
(b) Bath Statement 1 and Statement I are
incorrect/&herA | 31T 11 T el ﬁll
(c) Statement [ is correct but Statcment 11 1s
incorrect/ 47 1 Wel 8, & T4 11 7o gl
(d) Statement 1 is incorrect but Statement II is
correct/ &9 | e é, Ef?_l_ai?ﬂ 11 7é £
NTA UGC NET/ARF June 2021{29-11-2021 Shifi-11)
Ans, (¢) : &1 Sufaafa ~masdt § ¥ & Tod FE @l
TF 2
a1 gufaaita el § 4 39 909 791 8 wEd el
3 T4 | 979 79 &4 11 3709 &
13.  Match List-1 with List-IT

w13 geft-11 & gafe #ien:

0 subconlrm propositions

14.  Given below are two statements

rer 1 s fau o §:-

Statement/&fT: All knowledge is a
recollection. 1t is true on a certain account/
WY FH U FhT & YT €1 T8 §O €
W& T R

Statement/&I=: All men by nature desire
understanding/ayt s W ¥ § @
In light of the above statements, choose the
most appropriate answer from the options
given below,

ITU™H HAA & AEIE W i fawedt o
& wd o
(a) Both Statement I and Statement 1I are true/
T | 311 F T €
(b) Both statement | and statement 11 are false/
A | 3 1] & a8 @
(c) Stmcmcnt ] is truc but Statement 11 is false/
Fo | 7 & T 5o 1§98 74
(d) Statement 1T 1s false but statement 11 1s true/
T 17 T2, F I T
UGC NTA NET JRF June 2020 (29 Sept.) Shift-1
Ans. (a) : H7 ¥ T ¥FR 3 FEEA €| 98 TS €9
ﬁmmaﬂq%a@mq@mﬁﬂmﬂamumﬁﬂ
vt W W @ @ o vaf @ dm o

15. Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as
Remon (R)

o wa feu o € : wgen afimaT (A)
3fiT g W (R) &
Assertion/3TT&G TR (A) : All perceptions seem
entirely loose and separate. They are conjoined
but not nccrssanh connected
g afit gus wiw g §1 & @

g a:ﬁmﬁa deftra 7 2 £

Reason/eh (R) : Since the perception of
hardness is not necessarily connected with its
colour, it can be said that perceptions are
loosely connected E1)
IWEF 1 fEn: deEim T § a9
wgl A wear ¢ fF g gdw wo @
wafta §1

List-1/a=fi-1 List-11/g=h-11
A, If'Atis True I. 'E'is True; "0 is
Iz 'A' T & True/E' 89 &; '0'
" &
B. IF'E"is True 1. 'O" is False; 'E' is
afz 'E' 7 @ False/Q' 389 @
'E 3 #
C. If'I' 1s False 11, "A'is False; 'I'is
afz | I 8 False/'A' 3 &
T 3 2
D. If'0' is False IV. 'E'is False; 'I' is
afg 'O 318 § True/E' 3899 & T
9 &
NTA UGC First Paper Planner Volume-2 24
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In light of the above statements, choose the
most appropriate answer from the options

given helow
HUAl & ETE o Preife Reedt o

¥ Taifirs Jugw I A

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)(A) 3 (R)
T ¥ AT (R), (A) F1 7@ FmE &)

(b) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A)(A)
3T Wl € H(R), (A) F T ZIE

(¢) (A) 1s correct but (R) is not cu
T (R) Tem 21 &

(d) (A) is not corrd tﬂx‘ ecr.f(A] e @

ne 2020 (24 Sept.) Shift-11

M T % 31"11 R, A 1 T =AW=

e e a:fr{ 9gF TAA &

i a i S, e 8 i §1

T F FIA FT WG 3G 1 A

Which argument may be advanced in support
of aclign research ip education?

q vty & "uda ¥ frafefiaa o

A @ |7 weh foar A waar §7

(a) The researcher breaks fresh ground in the
field of enquiry/TMFal 37w & &7 § =73
TG T &

(b) The knowledge is applied to extend further
generalization C & FTH A
T =7 IFEM T 2

(c) Some new principles are_ formulated for
explaining the events/SZAT & AT A
F o g 7 fagia e s §)

(d) The educational situation as well as the

practitioner of education under‘%?( a_change
for the better/ fimn &

argrEal § agad & fw ofad)
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11
Ans. (d) = Trifors feafa 3R fomn sramoaal 8 aeqd &
fore oftada fewn &7 F frams vy &1 9 9 )
freft sl aren stz SR 0 AT ardr FeeEi &
WA 3N 3% FEam & v Grams vy daifem
Gl ]
17.

Consider the following syllogism:
=araaret w faem

A. This hill has fire/IgTEr T a7 %1

B. Because it has smoke/@iah ITH 3T 1

C. Whatever has smoke has fire/fvad oft ﬂ?-ﬂ
T & IO am et &)

D. This hill has smoke which
associated with fire/39 'Q'Er-bﬂ'

PruaT wU W AT N wAtm B
E. Therefore, this has fire/37d: Ia A ‘%I

is, |mar|nbl\
gl & =

: 7
&kf\m qRrEt & 3 g (wfem)

Which will be designated as Upnaya in this
svllogism .

W W =raared ¥ 3T 41

(2) A and B only/Fae

(b) B and C only/&a ( )

(c) D n{@@
T JRF June 2020 (9 Oct.) Shift-11

ThatHd § 3999 ¢ ‘39 el A YA &
=0 F am § wHfm )

{u)ﬁﬂfﬁﬁ?ﬂﬁgﬁéf'ﬁ)
(iii) Fordl oft spani @ 39 3T € & (Fam)
(iv) 39 T A ¢ S FRuaR w9 @ 3m § WHEE § (@)

(v) 3 3H 3 2 (Fma)

18.  Match the pairs in List T with the pairs of
mmlugles in List I1

=t 1= gE 1R gt i
List/g=- 1 List/gsit- 11

Lizard : Reptile | 1 | Skating
[Toaae : ThHiET :
wirge

Tennis : court/ | 2

A Rink/

Haematology:
Blood

h

Eagle: Bird/ %3 :
aaft

Wizard: Witch/
TG & ST

Bull : Cow/daT3: | 3
T
Botany

115§

Choose the correct answer from the options
given below:
e g o faeeat o @ Wt I g
A B C D

(a) 1 3 4 2
(by 2 4 I 3
(c) 3 1 4 2

(d) 4 3 2 1

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans. (c) :
A) fomaen - |igy
B) 2 - &
C) Hig: Mg

D) awfa fagms @
19.

: Plant/ | 4
fagm:

(1) T=g - oeft

() & - =

(1V) SR ; SIEIAT
(I1) EH2reiist - T

Given helow are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R

= g wuw fw o §: uw wr Afamaa (A)
3 AL 1 W (R) o T

Assertion/3fW&HTT (A): E-commerce companies
requirc_personal data to serve the stakcholders

betterZ-F8 FufE F fomunai @ R dar
SeH & 3 AR 221 1 FEE g
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Reason/@eh (R): In this process, privacy may get
compromised/38 Wfrar # fasar & AT
Ug {9l 2|

In the light of the above statements, choose the
most appropriate answer from the opfions
given below:

Iud wUE & e # fifea freeat |
& waifta Iag I 94

(a) Both A and R are correct and R IS the ¢

orre

explanation of A/A 3R 2 0
¥ TE = 2

{iﬁ@ is_not lht:

i) Both A and R are
agali
is not correc/A Td & KL

’a) is flot correct but R is correct/A #2172l &
T R 78§

UGC NTA NET JRF June 2020 (24 Sept.) Shifi-1
Ans. (a) : 3-Fi90 il & RAURE 1 97a a1 WS
A T fu afemm 821 9 wew od &) e A @
Tl T &% & o @ @ i femmE & oAfem
21 ff g W A W E ) o A § AW @ U
A el
20.

Given below are two statements, onc is labelled
as Assertion (A) and the other is labelled as
Reason (R)

#rar 2 o feu W € uw @ arfiuww (A)
it gat = @ (R) e A g
Assertion/37T9ELTT (A): In group discussions,
some participants enter the fray with big chips on
their shoulders/&3g == T EoEes ] El’gﬁilﬁ EGl
T 2

Reason/@eh (R): These are antagonistic people
who are calm and listed/d ey @ 2 € s v
AR wfaardl € &

In the light of the above statements, choose the

most appropriate answer from the options
given below:;
HUAT & I o TR fawear o
/ waifie IugTH I G-
(a) Both A and R are correct and R is the correct
explanation of A/A i ZHi wE E R, A
& wE oAl ¢
(b) Both A and R are correct and R is not the
correct explanation of A/A I 3 w2
3R, A T T = T E
(c) A is correct but R is not correclt/A o 2 =]
R 7@ 7 2
(d) A is not correct but R is correct/A TE TEl 4
9T R T 2
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1

Ans. (c) : 3MFAT TE 2 7 7 A 2
wwngmmnnﬂaﬁa;ﬁmmﬁ g

stthu(ntt one is labelled
tl the other is labelled as

2[. Given helow ar
as As ?iﬂ
, feuw wu € : ugenm Afamaa (A)
T T (R) €
Assertion/3T17&%a= (A) : Substance
caused, self-conceived and self-existent
T W-FE, |-uia ofn @-afia aren
AT
Reason/ddh (R) : Substance is not caused by

other causal sources but is conceived by
something else and is also existent on that/sEx

3= wE Bl g wha T8 e § afew
ferelt s gro uite wfar & Sim sww oft
stftava gam &1

In light of the above statements, choose the

most appropriate answer from the options
given below :

Iudw wuAEl & s § Praifes faeedt ®
¥ waifirs Juge 39 g4
{a) Both (A) and (R) are correct and (R) is the
correct etplanalmn of (A)(A) 3 (R) &t
& & 3 (R), (A) F1 T == 2
{(b) Both (A) and (R) are correct but (R) 15 Not
the correct explanation of (A)/(A) R (R)
g1 T € A (R), (A) F HE e T )
(c) (A) is not correct but (R) is not correct/(A)
#E & T (R) T ¢
(d) (A) is not correct but (R) is correcl/(A) e 2
T (R) T £
UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (¢) : 5 WE-FE, @-uld AR @ A= gl
T ¢ TE HET WY €, Hih 92 [F0 T I 30
FfA 3R A A I ¢ Fhg T Sitad 8

is sell-

22, TrotafEa 9 € «=-11 s e = maae

% WU TIRIUT o He 0 ol £

(a) TEA U= [IA-IEIGH & ITT UH F-IeIiT
7 fai #

(b) ™A WE WE-IEE @ fag @ -
IR & 39 2

(c) e UZ TMF-3MAtE & Ievd Ud Frepd &
faeg 8

(d) T T w3 & 3 w e @
fatr €1

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8

Ans. (a) : FI9- T4 U2 AF- W HIYY wF
- I & i @, i s § wan e
& WAy ¥ w9 81 Oy A @ g ¢ dm
Ry ahar @M @) 39 @ ok § e e
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i o 2a 2, i T w9 adas § a2
afe @7 & i ol & v @ @ ol T 4
7 S 2

vl maEE & 2F ARaE ug s e
g | Fem-am YER & w0 €, a 39 My amEEy

25.

T Rt oA Ol @ wEAT 8- ‘a9 Tg

i o § 4t 3 o uftgreEr 1

[aw E' aE o &?
YA

(a) ®f9-frmaa
72919 Shift-1 (2 12.2019) Set-1

3. 399d: 4|
Te—| 0 Jeeiad Wud @ &l q2—1

n&a:&:guﬁﬁ;mgﬂ'm
e

(a)

el ST &1 ¥ WA i A 8-

ﬁﬁmmﬁmsﬁ
(i) affwEr w9 3 @om
g
(c) 3iFT= (iii) e
(d) smofas  (iv)  FfEw st @
& faeew @ waw wifag—

(c) ¥4 H&e
UGGNT
S
@m AT U 1 FA § a9 @l
> SEE FT Hhd T 2
mmmwmmmﬁmn
W TS &) S (e 98 Iuud 41 I €
fowa afz ofifef & o S B@ o sw G @
SR & F waE @ & F Agl 4 &) S @
mmnmmmmmﬁmﬁqmma&r
T 1 Hiwed 941 fEar o fS|E al A u8 e
A TAW W T IR H IS AR FON T I &
fomal & &1 = T A & fav ame | §ie am
maﬁ;ﬁmﬁmwéﬁ@ﬁmgﬁéﬂqmm
FLA B

(a) (a)(i), (b)), (c)(iii), (d)(iv)
(b) (a)(id), (b)Ciii), (e)(iv), (d)(i)
(c) (a)(im), (b)), (), (d)(iv)
(d) (a)(iii), (b)(iv), (c)(ii), (d)(i)

26. wTiehen givh STTETA ¢

(1) a9 7F |
(c) TEE 7 W

(b) WA T W
(d) =T 7 W
UGC NETMRF Dec 2007

UGC NTA NET 2019 Shift-11 (2.12.2019) Set-2 || Ans: (d) 318 i & #pag § sdfed 91 s
Ans. (d) : 581 Ot - fﬂmﬂmﬁﬁ@:&laﬁwnmﬁaﬁmwm
Hez-1 -1l TeE WEA [ A T 2 73 i & g
([T =) (-!Im-) ﬁaﬁiaﬁrwﬁ‘ﬁmmmm‘mmﬁl
(b) = (iv) =i st SR e @ ¢
(¢) 3w (i) avifaror W i g sEdal | |27, =gl (et g g
() IguRE () i, #W, " R (a) FTITH (b) AT
i ey 3= (c) SarmEa: (d) TEFeIAT
3m: fawew (d) 3nfre I g UGC NET/ARF Dec 2008
24. o adaie &, OF TeE RN &|| Ans: (o) EYE  (Fefie)  sEames el €
& ETE &7 A SEIE, S 2 uw e fafn d
(a) T fairg (b) T Fire YA SEE A & o w9y wafa e s
(c) Fs frirm () Fafere i 21 @rd-aw iy @il & & fau @ Rafid @

UGC NTA NET 2019 Shift-1I (2.12.2019) Set-2
Ans. (¢) : 7O TH FAAS ¢ g8 AHaE4 [N (499
AT F I NEE N 8| Wi ahwa i
Iya-faig F 99 IR TR o 9] & U A
SIS &Y =7 747 2 |
TF T § 9 o a & fafis T =1 w8 3R
I TR NEF WER BN B
1. it er Fd=afs 2
2. 3¢ oA FAafs A8 2

AL HA T ¢ ved W fog FTm e @ fE AR
FO € A SgE e i @ @R Rl smeves @
e vaf| 7 g @i Ay N fog Fer @ o fE
afz FRT AE & @ A ot W g gy g s
@ e o e o ol geeh i a8 g waa 98
TR0 T §, I U I W@ §| NS SHeE
i grw @ Iuffy wm @1 e @ w w @
sofeafs wma & F foad @) = 2 fafE &
T HA & 9% g7 G FA-FRT HoY L TH G

3. & BF FAEES 2

4. T8 oA FAATS T R
TERETE AR U A A, E, 1, O dkae Fed g
TR AT W TS Adared 8 S| g
et faumTs FEaes w9 9 8 do e favg
T T =T 21 e fafae i T e o 2

28. TTfehen i &7 IMUTE -

(a) TSR IR Rl F T
(b) T 3R T 1 9 JE
(¢) WArFATE T & §gm
(d) TR W 7 SEm
UGC NET/JRF Dec 2008
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Ans: (a}mﬁmgﬁn s 3 & T Faa s
mmmmﬁqwﬁﬁnﬁmwnmﬁ:ﬁ
& T TG T v Wi & 3N 9 EE A ¢
v WS i 2 FREtm a3 w31 S g

29. frafefias o @ afes gfs & e S=-w 87
(a) TN F WS & NG w9 Fn o wgE q|| W
TR &1 3w
(b) T uiffs Fg E oM § R WiHs 37
TR TR g §E & E 2 \)
(c) T WY Hed &, w&wmh&
(d) T W §, FEiE a2

(% F June 2010
g fE gl‘?F

I wy i T 3R

Fﬂﬁrﬁﬂaﬂq-ﬂmm‘{t?ﬁw
FEHE T

L. ot & i @ T E, @ w9 E
2. ?ﬁgﬁﬁa&ummél

3. frvars gfen & wevEm: o e @ g 21
4. faum GRS Al IEEETE 8 O 8
&

(a) 1 32
(c) Fad 4

(b) 1, 3 sft4
(d) 3 34

UGC NET/JRF Dec 2011 |F

Ans: (b) T8 49 -

(1) F® afewi A qofa: dw A &, & s dw )
(3) FamEs 3fw & aemEn: Tow fed @ T
(4) FauH TR 3161 S # 9EA 2

31. fr=fafias gl o @ wm-dt gl 78 §2

(a) T 3 WETER 2, 1 e AR &

(b) °fF 3T TeER 2, F9 G

(c) mqtﬁmﬁﬁfiﬂm THifew A 395 9% W

FOell e |
(d) TH 9 W 7% &, SHIfY 98 el @1 g
UGC NETARF Dec 2011

Ans:{c)ﬁ@ﬁmﬁuqﬁﬁﬂimaﬁqfﬁﬁ
#fem gfew &1 TG TS ® oA @ W A 93
Hymifad frar safa 49 38 919 N dral, a9
ﬁgﬁ;aﬁéaﬁgﬁmﬁaﬁﬂmaﬁmaﬁrm
a2

32. Prafafay gieal § @ sE-t gfe 78 §2

(a) %AW fa7 § 9oW T8 F €, FHfaT 98 T
TS FAT 8

(b) Bf2 Zaew dier @ 8, 3R afz @z e wt deE
T FA4W 2, T8 T o e Fom

(c) %@%d TA ¥ o9 & §, sifew @v R A
A AL FA 2|

{d)q_ﬁﬁaaaﬂfaqnwm?ami g T |
9T FT &M

Ans: (b}l’-ﬂﬁﬂ‘rgﬁﬁmhﬁﬁﬁ
e A I A §oasa i
A &1 ey, R
I # A E@ S i

%'am'qﬁa’sﬁ:r

qma%auwmlmaﬁqﬁ

%950 & W, W & Wl 994
I\TS B11 F FT0 I T S aw
e w7 T g

o

& g

33. " AfEeATd GHET ST 2A0GN YIS & S (e &l

g foe yar @t gfeanior §2

(a) TErfard (b) fErfamErE

(c) ArEr (d) & wfifEfaa

UGC NET/ARF Dec 2013

Ans: (b) “Higerd gEdl & s wEla & e fee
2w i AfErieEd gfewm & fm Fw g
fomy ot wear ¥ gewn & U ofd § & F i § i
& I femmn o€, fAd adu @ E @ aged &
&Y # ygfaart gewor ¥ & 3 fear w2

freuTfires @k ey & @

(Structure of Categorical
Propositions)

34.  Consider the following statements in a square

of oppesition of propositions and pick the
correct answer.

HAAT @ AhaTad & et - S
% Taamy sty of vt = g -
(a) 'A' being given as False; '0' is True.
ofe A 3 e 8, 1 E O 2
(b) 'A' being given as True; '0"is False
afz 'A' T faan 8, 71 '0 5
(c) 'E'being given as False; 'I' is False
afe ' 360 G @, A1 T E 2
(d) 'I' being given as True; 'E' is True
afz 1w faan @, @ e T 2
NTA UGC NET/IRF June 2021(27-12-2021 Shift-I)
Ans. (b) :

G

35.  ldentify the fallacy committed in the argument.

o @ UgarT @iy
Some spaniels are not good hunters./&%
wAfrae =g el Tff g €
All spaniels are gentle dogs/avft Wfmaer v

UGC NETMRF June 2012

(ee ) & we €
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Therefore, no gentle dogs are good hunters/
3T, TTS YT I T 3T TITERTT TET BT
(a) Fallacy of Exclusive Premises /[&Eda
T 2
(b) Fallacy of Four Terms /AR W 3y
(c) Fallacy of lllicit Major /F=ATe-HTe4-319
(d) Fallacy of Illicit Minor /7oA -98-a1Y
NTA UGC NET/ARF June 2021(27-12-2021 Shift-11)
Ans. (d) : T4 |,
Fo witme ww foard 5@ @ & o
(Se) Fm gm g I @ off g
%l TR T 3§ FfE
T faefE @
E R
Which o

lowing would be the logical
nh cmzem can vote"?

w wage
ﬁl & aﬁ qea t ?
(a) All those who are citizens shall vote
a @i 5 A €, waEE w74
(b) All those who are not citizens too shall vote
a o & At 48 8, & o wE o w8
(c) All those who can vote are mu?cm
3 Wil 5 g W g, A 2
(d) None but voters are not citizens
WAEIH & i HE ATRS 447 81
NTA UGC NET/JRF June 2021{27-12-2021 Shift-1)
Ans, (c) : F97 ‘FaE AMRE @ UEM R Tdd o,
ﬁwﬁ“amﬁmmm% mﬁm%’u"ﬁaga’&u
Hif Waed &1 AUFK had Amial & o Igem 2,
Fafq, S W WEEE SO 98 A S e
37. Name the fallacy committed in
"Some good actory are not strong men.
All professional wrestlers are strong men.
Therefore, All professional wrestlers are good
actors."
AEHETY T I TATR:
To e afian aeryet Tge T e &
Wit UraT Ugea Aot I8 & §
Tafera, Wt W9raY WperaT 3Td AT B 8
(a) Aflirmative conclusion from Negative Premises/
T P, T SR 9§
(b) llicit major/374 TTeR
(¢) licit minor/37T49 W
(d) Undistributed middle/3mif #q
NTA UGC NET/JRF June 2021(26-12-2021 Shift-11)
Ans. (a) : FreifFa S 0 G e, TERes
wmnwm%mﬁsﬂamm%maﬁw
gl o o e TEReT 21 3R U W 3 e
IR a4 g1
"o I I TAUCH A A G & FERE 3R
g gl TiEt YeedH adenel (RS 8 ¢ SERe
YR G

38.

The Fallacy commiited inthe argumen
"All textbooks arc books intended (£

study. Some @

ooks
intended for carefull K e
reference books are te il
frefafian a6 - G|

(a) Fallacy of four Terms/¥R 2 &1 @ 2

(b) licit Major/2rdy anag

(c) Nlicit Minor/37de ey

(d) Undistributed Middle/3fafs &g

NTA UGC NETAIRF June 2021(26-12-2021 Shift-T)

Ans. (d) : & ° wﬁrwwwpﬁﬂffmmgg
i i o df gEs T gEs @ W
T aafqﬁﬁgm%ﬁilazﬁ: ﬂ;ﬂi

T WA 81 A g a1 w3 ¢ i
B U% ‘FEYE [ AT g S g ST |
fawnfom = €1

39.

Directions- In  the question below, two
statements are given followed by four
conclusions numbered 1, I, II1 and IV. You
have to take the two given statements to be
true even if they seem to be at variance from
commonly known facts.

Read all the conclusions and then decide which

of the given conclusions logically follows from

the two given statements, disregarding
commonly known Facts,
Statements:

(A) All typists are Stenographers

(B) Some Stenographers are boys

Conclusion:

(1) All boys are Stenographers

(I1) All boys are typists

(I11) Some typists are boys

(IV) No lvplsl is a boy

e for o gvR O 9 wEwA @ 9W

v&mwm I, 11, 111 387 v & e i o
AMTHT T T FHAT T § AR A WG T
fa@ wft uftomg ug @ar fwifta & @ @
fear T wftem feu stfaraa =T Al § R/
Tk 1A #)

Y

(A) i Zréfiree AR 2|

(B) F& WA TES €

aftoma:

(1) T g =R 2

(1) wfi e 2Efe 2
(1) §o ZRf= @& 2
(IV) 598 &1 T 7

(a) Only (1) follows/ Faa (1)

(b) Only (1) and (1) follows/ &ae () T (1)
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(c) Only cither (1) or (III} follows/ Fad (Il
a1 (111)
(d) None of these/ T8 | FY T
MPPSC SET-2018 (17-01-2019) Shift-1
Ans. (d) : BT o F2el & fou F o fed we Al

&l €

40.

2

All mortals are men,
Socrates is mortal
Therefore Socrat

T E
of4he following statements are true of
¢ above argument?
weEl § | Iudw gfw & TE
@ o 7 72
{A) Above arguments is sound
I I g 8
(B) Above argument is valid
I gf ST 2
(C) Above argument is fallacious
fe 9 21
(D) Above argument commits the fallacy of
undistributed middle/3vEw Ifw faafta ma
g H 9 ¢
Choose the correct answer from the options
given below :
A faw o faeedt A w3 = wae i
(a) Only (A) and (B) are comrect
Fad (A) 3T (B) 7 €

(b) Only (A)1s correct /FTd (A) T &

(¢) Only (C) is correct /&ad (C) Tél 2

(d) Only (C)and (D) are correct

Fad (C) 3 (D) 78 &

NTA UGC NETARF June 2021(04-12-2021 Shift-1)
Ans. (d) : Tf TOTdE A 21 HERE O )
A: {FE A 2
I 7 At § fEAfE g g g
41,

Given below are two statements: One s
labelled as Assertion (A) and the other is
labelled as Reason (R): et 2 &wo= fag mw §:
T& AFTRTT (Asscrtion A) & w9 7 fofgs &
Al ET IWSH HIW (Reason R) & BT H
Assertion (A): The argument "Everything is
nameable because it is knowledgeable' is
fallacious.

afismaT (A): 7 - "' aw] & AW @ W
FHifer a8 74 (TfAwtad ) ¢ o €

Reasons (R): There is nothing that is not

hecause of the ahsence of the major term. the
middle term is also absent.

ve statements, choose the
nswer from the options

In the light ofl

most rijt

jv &?&;mm%ma,ﬁ
%Q\fam H A wad IUGeh I R FAT

.
.

(a) Both (A) and (R) are correct and (R) is t_hg:_
correct explanation of (A)/ (A)3 (R) &HI
78 § 3 (R).(A) 3 = = 2

{(b) Both (A) and (R) are correct and (R) i;s NOT
the correct explanation of (A) (A) 3R i
T F AFAR)(A) T W AT T 2

(c) (A) is correct but (R) 1s not correct
(A) & & wfE (R) wél 7 2

(d) (A) is not correct but (R) is correct
(A) 5E! 7E € oA (R) & 21

NTA UGC NETARF June 2021(03-11-2021 Shift-11)

nameable and [ cannot find a place where

Ans. (a) : Th "8 @ T AW & T ¢ F0h 9@ I
21" uvE © HitE G @ gy A8 e am T o
TEA & 3R TH 5 =@E T @ aw ¢ i § e
e L R L e R R
WiyFed & Wed § &4 T AW WE & 9% seE T
G H4 & iy faey (o) 99 81

42,

1dentify the fallacy committed in the argument
below.

Frofaias wd § 9 99 &t Uga st
Some good aclors are not strong men.

T e A afeg @t 78 g &)

All professional wrestlers are strong men.

il give Tgera afeg =i 2 €

Therefore, all professional wrestlers are good
actors.
ara: Tft gfvess ugerar ared arfirrar gra 1
(a) Fallacy of drawing affirmative conclusions
from negative premise/FTHERS MR 9= |
(b) Fallacy of Illict Major/fifig wme #r 2w
(c) Fallacy of Hlict Minor/ Mg w1 &7 &
(d) Fullncyu_t'l]ndie._'lrihutcd Middle
Hfmfia o &1 TN
NTA UGC NET/AIRF June 2021{®1-12-2021 Shift-11)
Ans. (a) : 2@ T4 AF W [ sTEEE |
e e fared 1 4 ¢ 9% o sivaits @b
am @ s e SEEEg w8 )
43.  Identily the fallacy commitied in the argument
ot fau wu W & g @ ugaTT Wit
No tragic actors are happy men.
1 AT waw @i Tl g g

Some comedians are not happy men.

T T AT g wat g e €
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Therefore, some comedians are not tragic
actors.

IM: To T AT g arfiear = £
(a) Fallacy ol Undistributed Middle
FeATE 7 AW
(b) Fallacy of lllicit Major/3TeATd HTEg L
(c) Tallacy of Exclusive Premises
AU 2N
(d) Existential fallacy/3ifiFm <
NTA UGC NET/AIRF June 2021(01-12-2021

fe-1)
I :NE)ﬁﬂﬁm]@ﬁifﬁm()?ﬂﬁﬂfﬁhél

e for T freedt F /W I oW =@
'Gﬁﬁ‘l'q: .

(a) A, D and E only/shdadd A,

(b) A, Cand D only/a

{c) B and D only 3 B
(d) B agdE B3IRE
_ NTAM T RF June 2021(30-11-2021 Shift-1)

%@m a'ei'arimowﬁl

Ans. (c) ; TAMEAG U@ EQ-THI
mmm—mwmm n a: fae (d) 7 )
™ EFH SR FERTHF 2 TF 2 46. If 'Some members are not voters' is false in a
‘Whu:h of ““, ‘ ants 18/ are true 7 square of the opposition of propesition, which
A FaT T ) of the following code tan he cnrrcclly picked

The nd "false’ apply to arguments.
W Ug qfvhal 9T @0 8 8
erms ‘true’ and 'false’ apply to statements.
3T ' U AT O @y g g

[.. Thc terms apply
argumenh

& 3t svéy’ oz gfvedl o g B €
. The terms 'cogent’ and 'non - cogent’ apply to
statements./ GYR" (@) 35'{ -y’
(SfE-miie ) HaAl O @ B #1

Choose the correct answer from the options
glwn below:

mmﬁaﬁﬁuﬁnﬁmmm

'valid' and 'invalid' to

(n) A uml Cunlyﬁ:‘rlﬁ AR C
(b) B and C only/#Fad B 3R C
(c) C and D only/&aa C 3R D
(d) A and D only/Had A 3R D
NTA UGC NET/JRF June 2021(01-12-2021 Shift-1)

T aa & fainh ot ° of ‘T =
TR A 2 s %, A Profafes ¥ @
form e @t |E AT A1 WeheT B

. '"All members are voters' is false

"ot wEE weErT & TR

'Some members are voters' is true

"' weE wagEa ¢ W €

'All members are voters' is true

"t TEE TAere & W §

'No members are voters' is true

"= Wew Tde TE & W &

Choose the correct answer from the options
gnon helow:

frer fau u fameai o @ n‘ﬁ I
(a) A and Dnnlyﬁﬁlﬁ A D
(b) Aand B only/ ¥ A 3R B
(c) Band C only/&a B 37 C
(d) Cand D only/Fad C 3R D
NTA UGC NET/JRF June 2021(28-11-2021 Shift-1)

Ans. (b) : T8 &4 M@y -

B. Tdl 3 7Ted 9% FEH W AN & g1
C. 99 3 379y 92 Ifehdl W @n] & €|
I faFew (b) 7 21

Ans. (c) : THarFT & [ @ & 9% TP 9 HAE
e

A & I TE FT ITAEd &
(1) T2 T WIeA €, T €

45. Which of the I‘g"owin statements are correct? ||(2) @it T=5 wEm ﬂ'. §9 21
U E T 9 HIT w2 wa: e (o) 77 &1
(a) ‘:mh!"a"&'il::‘:::}_';“ and E proposition  are | 47, Identify the fallacy committed in the argument:
b . Some birds are not beautiful creatures.
A 3‘ﬁT l"mg. . All dogs are beautiful creatures.
(b) A IPTSP‘:S“_WH and O proposition are Therefore, gt:]n s are hirds.
contradictories. e ah waﬁm
(c) E prop:silion and (()‘.l pmpa}i:lion are 9 vt = < =l &
contradictories ) kil Eﬁ =t < & ,
E iR wdkare 0 = § 37e: T g uaf TE €
(d) I proposition and O proposition are contraries (a) Fallacy of Exclusive Premises
1 3fT =4 I 2
(e) 1proposition and O proposition are subcontraies (b) Fallacy of the Mlicit Process of Major Term
wehared | 3w acharea O Sufaafa § W A wfwar 2
Choose the correct answer from the options (c) Fallacy oflhc Ilicit Process of Minor Term
given below : T T N 2
NTA UGC First Paper Planner Volume-2 152 YCT

Scanned with CamScanner



(d) Fallacy of the Undistributed Middle Term
NTA UGC NET/JRF June 2021(26-11-2021 Shift-T)
Ans. (b) : 3 WA WfEFA AN UE WP AR & B
& et o 7 g s uE aF dw 2, s fred A
7% = faaf| T @ e oR 9 i 9 T=
A &1 am: e (b) 51 2
48.

If "All men are mortal' is given as True, then

inferred from it?

A."No men is mortal' is False

B. 'Some men are mortal’ lli

C. 'Some men are got k

D. 'Some men @t Y is False
E. 'Some i is False
cor (-ct answer from the options

A(\.

JET ¥ WA & B H WET §, @
ﬁwﬁa@wﬁf&:ﬁm@mwﬁﬁumﬁ
ITH FET W TR &7
AT AT TR AE | SEE |
B. 'S0 WA AHE WA R
C.'TTWTH IYTAH &' A §

D. &0 uge 79T T &' araea &

E.'&0 W@ A9 §' o §

Hrar fou v faeedt & @ W I @ waA
S

(n) A, Band D only/&@@ A, B 3T D

(b) A, B and C only/&a@ A, B 3R C

(c) A, B, Cand D only/#ad A, B, C 3 D

(d) B, C, D and E only/&a@ A, C, D 3R E

NTA UGC NET/JRF June 2021(26-11-2021 Shift-1)

Ans. (a) : afz ¥ 757 AR €, §9 g

M, FE WA A A S0 B

T U AW 8 5 21

Fo WA TH T ¢ 99 2

1 faseq (a) ¥4 21

49.

Name the fullucy committed in the argument
All dops are mammals
No cats are dogs.
Therefore, no cats are mammals.
Choose the correct answer from the options
given below
Ty A R
aft & wurd g

(a) Existential Fallacy/3ireardl gwmm
(b) Ilicit Major/37ds Hreg

which of the following options can be vnlid!y\

Ans. (b) : 3789 Y TS mluuumﬁifﬁrﬁﬂﬂ%’ﬁa z
ﬁﬁg@?g@mﬂmnmﬁaqw -
nﬁaﬁammwﬁraﬁqaﬁu 2

50. Pick the correct optio
Hrgumcnt

@ {'gmsls
ome artists are aupers
|

FHO HeMdT 16

Therefore some papers are egostis
A: ETEF'{E |

(a) AIlI-1T figure/A 11 -] STHR

(b)y A =11 figure/All =11 FER

{c) A H—III figure/A |1 — 111 3HR

(d) A N—1IV figure/A [l - IV 3R
NTA UGC NET/IRF June 2021(24-11-2021 Shift-T)
Ans. (¢) : Tl FOER EAM &I - A 7 4
FEFEER I -1 _1 3
3 Fo iE At - 1.3 [

W NN UR 2] SmHRanE| i 3{&'!?11 = W
T & W@ T i e @ fwin a0 e RE
W 7 AL -1 371 T8 faseq @)
51.  Given helow are two statements :

Statements A : "All  physicians  whose

licenses have been revoked are physicians

ineligible to
wu ' T i sigftaat
frmfmh €4 fufran ortf g srma €2
Statement B : "All physicians eligible to

practice are physicians whose licenses are
intail”.

Ty "' a4 |t fafeas o fatear ad &

ferg drar § 3 srgaftaat s §2

Which of the following is true with regard to

above two statements?

3 A1 HUAT o W 7 i ® & AT

FAT TA 2

(a) Statements B is contrapositive of the
statement A and these statements are not
logically equivalent.
@7 A, T A & woaiafia w9 2 @ e
o AT gfe ¥ e T €

(b) Statement B is contrapositive of the statement
A and these two statements are logically
equivalent /&4 ¥, FAT 3 & =Y
¢ aar i HeA wilde 5 d wuged €

(c) Statement B is converse of the statement A
and these two statements are not logicall
equdeLnl [FIH T, 49 F = [=x|
1 3 e A 7§ A A 8

(d) Statement B is obverse of the statement A and

practice,”

(¢) Mlicit Minor/31dy w3 E:;;,';.Mlmuﬁé':‘}";m}"; are nol dogically

(d) Undistributed Middle/3famfsm &g ¢ am 3 Fow AfdE g § T T )

NTA UGC NETHRF June 2021(25-11-2021 Shift-11) NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)
NTA UGC First Paper Planner Volume-2 253 YCT

Scanned with CamScanner



Ans. (b) : 9 3 - "7 mf fafEws et sefe
ﬁmﬁﬂéﬁéﬁmmﬁ%ﬂmﬁén"
@gd 9 - 3w e o Rfen @9 & foe g @
T S Y €1 FA9 q F49 7 T WARana
wY & 7 G e aideE w9 § THged @
52,

Which of the following statements is true
regarding two contrary propnsmons“

ey ¥ faifea o
@-a1 Jiwas g &7
(a) They can both be true/gHi & &

(b) The truth of one entails_t
mhcn‘ o H lclmai

(c) lhc:,.r can@h@falsc
ea Isity of one entails the truth of the

her T# 1 IETAONE AL 1 Feaal @l
NTA UGC NET/ARF June 2021(21-11-2021 Shift-11)

THZ A 2
NTA UGC NETARF June 2021(20-11-2021 Shift-11)
Ans. (b) : 7 famd sfasiferdi & @aw o ifumad o -
(i) T F T A T A T 9T B 8
53.

&l Hehe

Given below are two statements :

e =1 %a fou €

Statement I: The terms 'true’ and 'false’ apply

to arpuments,

FaT (1): ‘Tl o ‘e ug FE W i &

Statement II: The terms 'true’ and 'false’ apply

to statements.

HAF (I1): ' 3 ‘Tem’ ug FA 9 @y
£

In the light of the above statements. choose the

correct answer from the option gn en below:

YT & et fau 7o fearemeat

|/ W IO wa aﬁﬁa-q

(a) Both ‘?;tatemcnt I and ‘Etatcmr:nt Il are true
Fa [ 3K 11 3 54 EI

(b) Both Statement I and Statement 11 are false
Fo | W 11 A I g

(c) Statement I is true but Statement 11 is false
F94 | 59 &, T 344 1l 399 21

(d) Statement I is false bul Statement Il is true
FUA | WO &, A T 11 6 81

NTA UGC NETHURF June 2021(03-11-2021 Shift-11)

Ans. (d) : T8 31 T F4 W @0 A0 & o WA

IA: F4F (i) T AW TG (i) A &) gEfe fawe

(d) 79 21

54. Given below are two statements :

< e feu o §:

Stalemenis 1 : Every thinkable is nameable,
because it is thinkable", This is a fallacious
arguments because there can be no inference
where the minor and the middle terms are the
same.

t
r§mmmittcd in this
state ﬁ&i@glﬂl the extra-ordinary
(asaglh ause the middle term does not

“&y ing other the present minor t|:rm?;§‘r

Statements 11 :

| : 39 &99 W Ygw

FE W § iR WA Ug
ﬁwtﬁ%aﬂﬁﬁamﬁ?ﬁmﬁmﬁaﬂ
Erily

In the light of the above stntements, choose the
correct answer from the options given below :

Tl & e 7, e g e
H | W I @ TG S
(a) Both statement [ and statement Il are true
T [ 31 11 341 T B
Both mlunnnl[ and statement Il are false
Fo [ 3 11 21 399 2 |
Statement | is true but statement Il is false
FYA [ U 8 T F99 11 384 2
Statement [ is false but statement Il is true
F0T | T &, T T4 1 79 &)

NTA UGC NET/IRF June 2021(04-12-2021 Shift-1)
Ans. (n) TS farofm @, sfemes @, @S 9@
ﬁamﬁual"qawmgﬁﬁawl%amwmm
# 7w W@ AW AR T U E) g 6, T
Foa A LR ﬁmm F1 IR F@T T & T T
T2 i T 9% & wfaftw 3 fE g @ watm
T B T | A A | I T AT

55.

(b)
(c)

(d)

Identify the fallacy committed in the argument.
U Aehared | 219 @l adisu:

All men who understand women are potentially
perfect husbands.

All potentially perfeet husbands are men of
infinite patience.

Therefore, some men of infinite patience are
men who understand women.

ot gEn R e @ wEe § A v i

ofer gt &

wift dwaa: ¢y ufe ardfifia &ef arct 29 €

Zafe, o sdifte & ae gre @ gem € 5

AigeAT ht AWE § .

() Fallacy of illicit major/3/=ATd - HeT - H

(b) Fallacy of illicit minor/3¥/=4/d - Wef - &§

(c) Existential fallacy/MfEcanfing - M

(d) E:IIncy of undistributed middle/37oS - %’ﬂ -
FHi)

NTA UGC NET/IRF June 2021{04-01-2022 Shift-11)

Ans. (c) : 3WIG @A ¥ HEEe 29 gl
a%aﬁmmmamméaaﬁﬁmiﬂﬁaw
nq?mﬂmmﬁwmm%mw
EEild
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56. The second member of the Nyaya syllogism

which states the reason for the establishment of
the proposition is ealled
=g 0 aaes &1 gET 3Edd

auTETEY & T % v a9 T f, 39

gt T g-

(a) Pratijna/sfeam

(b) Hetu?q

(c) Udaharana/3<E0T

(d) Upnaya/309

UGC NTANET JRF June 2020
Ans.(b):ﬂlﬂﬂ"éﬁﬁmmm

Nu&»
NREE
3 T F A 7% 3§ S

' fireet U Fe 1 yafey IeE
H yaor &= o airgen faar @

-mmmamgw
{a) Ad hominem/Tg
(b) Adl‘ﬂl
(c) A bKl u

o elenchi/STATSMN ST
h A NET JRF June 2020 (13 Nov.) Shift-I
Ans. (b) : Ehmf@fdan ws adam aw 2 Gl &
fog @t @1 v aaW &) 37T FEew A fret X &
HTEAQUT Feafey 1 SR F et o f6ar T 21

57. What I‘nl[ac owmpfitted in the following

argu
6 T T - At &7

wrong in what he said because he is

dlsclplmcd by nature" )
I W =@, IO 9% TER § FiE

g @ ﬁ FTTHAEA §
(a) Ad hominem Uz 2Iff=n
(b) Ad populum™@g ﬁmﬂ
(c) Ad hoc/TE BT
(d) Ad misericordiam/Tg i ErEAELL]
UGC NTA NET JRF June 2020 (13 Nov.) Shift-11

60. “"Some teachers are not sincere” is an example

of which category of proposition?

"' et e T = B € foRw gioft

& AT & IEE0T &7

(a) Universal ncgali\'umﬁ'*ﬁ'ﬁﬁ frreng

(b) Universal affirmative/Smd«iiaa fatm (smoms)

(c) Particular affirmative/f59 fada (T=mme)

(d) Particular m:guti\'c!ﬁE‘Tﬂ fagy (FFRES)

UGC NTA NET JRF June 2020 (12 Nov.) Shift-11

Ans. (d) : ‘TO fowrs ads=frs 78 @@ ¢ favm ey
(THRIT) Fharad 1 I3 2 |

Ans. (a) : 2 @0 7428 79 &7 2 59 a9 f&
|aafs & 7% W = 7 29 39T Affg | 9= 3 8
7R et T @ SO & TR W TEd &
e &l

58.

Consider the following propositions.

No television is a computer.

Soeme televisions are not computer,

According to the square of opposition; the
ahove apposition is called as

ih G W faum sifa
TiE TETaw HIaeT TE g
O efifirerT FregeT E §
Tty @ (WRET 3G UTWYE ) & AN
IUATTH T &l T &gl o &
(a) Subaltcration/STHAT
(b) Subcontrary/3faTiimds =
(c) Contradiction/fatmamamd
(d) Cnntraryfﬁ'ﬁf’lﬁld?ﬁ Ten
UGC NTA NET JRF June 2020 (13 Nov.) Shift-1I
Ans. (a) : STHAV 3T WEEAE0 § §99 gwim @ faem
ﬁfaﬁﬁﬁuwﬁmﬁwﬁﬁﬂﬁl ‘AT ST
T E' 3T ‘0" & ™ TR T ST Fed 2

Fr§ Zefifasm arege 7@ am - E

Fo eifas Szt 4 € - 0

¥ 7El ImEAn HHAY ¢

59. "Mr. X is penniless. Therefore, he should be

given preference in admission to college”. This
reasoning represents which kind of fallacy?

61. i 1 waw feu My E—uEen AWRAT (A) TAT
THA T (R) &
wfuma (A) : Wi & W § faeraerd g
aTelt AU F are & oy foeelt R v o
& Eelty A T gag AT I @ ger
H &W E1 T HTaAT g
h (R) : TIOET UTeE W1 Im@fu W arg Wuse
siftat TgaT & @ar gaw ofn v & geer A
THET faea= g st gt &
IqIh ST wUAT & s W, Prafafaa §
(a) (A) 3R (R) T Wl € T (A) F1 7 =mem
(R) &1
(b) (A) 3itt (R) 31 Tt & 3T (A) 3 = e
(R) TE &1
(¢) (A) ¥ 8, fg (R) T 21
(d) (A) T 2, g (R) =@ 21
UGC NTA NET 2019 Shift-1 (5.12.2019) Set-7
Ans, (d) ; @ T sfimam (A) 5 omif & w9
¢ afew i 9 & HwrEer g @ T a5 (R) e
R & wEf § Ay wvew iR WA ad qae HK
Wi A g i gEE e e s g )
me 3 & fon T 3udm wiaEeA (A) T §, fR
i (R) @& 21

NTA UGC First Paper Planner Volume-2

255

YCT

Scanned with CamScanner



62. 12 WA ATaTT T £

wfi Arg wfas €1

@1 A1 W = g

Iudvh =argaTeT H Huaug @l Ugee s

(a) UEE 3MOR 9T § @l 3R gEl SR a9
fara

(b) TEe MM A § i it gW amm A
T

(c) =FT 2mur arr o faeg

(d) ST UR AT T FH

UGC NTA NET/JRF Shift- 6Jum: DIEI
Ans: (a): W99 7 fou M@
(i) ?ré

(i) mfl
(m) ;‘ﬁ f-'l

¢o .@

@ fm 4 e @ 5 wed =mEes d &
(fiEm) sin Ze smm Ty | fg (diaer) e
R ERImE @ EIidaTaR
yug AR T § s ey oW IR T
Wa] T & ol

63. afiTmaa (A): Wifsar ¥ #9 O mAAET &
WHTH & Witghias @ H ghy & it &
& (R): Hifear @ 8= aren sty waHE=
UAgAag S adar g § 7 fR armdw @t
TUTEHT @
e fodr famew @ wft I g
(a) (A) 3 (R) EH1 = €, 3 (R), (A) & ¥
@ §
(b) (A) 3R (R) S Tél &, @i (R), (A) 1 78
AT 7L B
(c) (A) W& €, @fFA (R) 7o @
(d) (A) a2, @l (A) w2
UGC NTA NET/IRF Shift- II, Set-02 June 2019
Ans. (a) : TVTH ATEAT (A) F HTAR-Hifeam T
o TR AW F Wi w6 g e g
FHite Wiz § @4 T ALY THRSE YaEHars @
TgEr W € 7§ srade 3 F| 50 YR 7
(R) @0 AMEAA (A) EA1 W& 2 301 7 (R), SfFaa
(A) 3T 4l =rE 8

64. Profefaa =g a@m o 4o o7 S wgEw

2P :

"0 TS dads T8 B §

ot yeeh wfoow €

FafeTe Fo wiawt o dade =l 2 &
(2) Fr=pd =1 32v9 ofit ffT s a1 Ry
(b) Frerd a1 i 3it wom sTaR T & i

(¢) 2t MR Tt #1329
(d) =T HAER A @ g
UGC NTA NET/JRF Shi

ﬁﬂf—gﬁmaﬁmqﬁﬁm%
= yar frepd @ 22vg R i avr aem @ favg
(FFaart Ay o1 92 1 9T T 20

65. Tt g =t &= g

=1E arameft famrw =

w13 et w =afe T &

Iud+h T A o YU U S Uge St
(a) MaEETE ¥ o

(b) 3MeTET W Al

(¢c) WM 3T & FdA1 3N e @ favg
(d) g8t 3murEre & Faf i fred a7 @
UGC NTA NET/ARF Shift- 1, Set-07 June 2019
Ans:(c)

fadl T4 g G 39 WFH 6

i 7z = fam &)

st fm o 2

¢ 3Tt 7R == 9 #

= A 0 Y Y% YW AR 9 S

ﬁ?ﬁwﬁmﬁi’ﬂ'ﬂ%l
66. alg weharaT 'faemdl W § e W fedr
WY AT Frafetad § § SE-9 W aed g 7
A. Tt Feremeff wisfic &

B. weft faameff wfr i &
C. To foamff hfv < §

). o it =fw faardf =dt §

3 for . Preret R T TR PN -
(a) Fa9 A (b) B3 D
(c) Fa€ D (d) B3t C

UGC NTA NET/JRF Shift- 11, Set-08 June 2019
Ans : (d) ; afz FFaa ‘faardt MR g faen @ Tem
v femn @l frafafaa o amg 746 @)

(1) &t frardf idic @ &1 (R 8 == )
(2). T2 faardl i = 21 (21ifyrs =0 & T @M
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(i) T FAw A E

{||}@ EI G| %’rﬁl il

(iii) & ot T W a8

{w)&'_d TI'U'FH':I

mﬂmﬁammw

(a) Fad (i)

(b) Fa (ii)

(c) (i), (i) 3 (i)

(d) (i) 3T (iii)
UGC NTANE

Ans : (c) T 7% g

ra%\;

I A & AR T Fieran @ 9= 3w w= O
T -
(i) T Fow A &
(ii) F& T FAG T @
(unaﬂéiﬂwmﬂﬁﬁ
I faFed (¢) 9@ I arm
68. TaT: 1. WU O UgcAIahal g
1. et nEETef = uitadt g )
fremd: (i) wft o ftendt &
(i) aftem 7 @A aw T =fw
TEeaTaRteit T g E
Prafafas 4 &= oft £2?
(a) F= (i) W )
(b) F@a (ii) T €|
(¢} (i) 3 (i) &1 =& &
(d) 7 (i) Té & 3R A (i) T2

UGC NETMRF Dec 2005

Ans: (¢) BT T FHem-
1. ot o TEarEER
2. ot mEcaEEh = ofianht @9 2 & MR W

I fom & smm w fed- ot om ofendt 3, o=
# o ferd- ufsm 3 3@ @ wf afE TR
T o 2, o W e F e W e 21 I e
forerd (i) 7 (i) TE BT

69. wa: Mty O FlgEr €1

fremd: (i) Fo @ ghgma &

anitfafgs o @ s §7
(a) Fae (i) sfsE

(b) Fae (i) A 3

() mam(ma:ﬁm%
(d) am aaﬁtm?ri

UGC NET!.] RF Dec 2005

@WW\ Eﬂﬁﬁmmg@mi 3l faf

srdw fr & amm @ Prsfafin fremd sifisa @
1. T© oF afewm 71 2. wf o afemm T &
0. wa=T : ity At T )
forerd : (i) Fo et i €
(ii) T it T A €
aniferftas & @ s §?
(a) Faw (i) HhwA &
(b) Faw (i) AT 2
(€) (i) 3 (i) sk &
(d) (i) arfvsr & 3 A (i) o &
UGC NET/JRF Dec 2005
Ans: (¢) BT Fur-stfumin s nfEm &, F 2mm @

3 fe & smn | efafan fed sfiva @i-
1. T® i whm &
2. T fes wha 78 8
am: faFe (¢) i IR &
71. Frefafas w7 @ amnfa w-1 frad faf-
fafga &u €2
woA: ST Tl fawd w@eEwm @ oo
G peun o 1
frend: (1) T2 g Ramml @1 sfea @
od off
(11 & wndra famd @ g #faa |
EE
e (1) faafim 21
Faa (1) Faafem 1
(1) T (11) a1 e g
(1) & (1) 31 faafad 74 €
UGC NET/ARF June 2006
Ans: (2) Bu T Fam- sty vl faed Sme

()
(b)
(c)
(d)

(ii) |Vt o afgEa 78 &

ud o sraftad a1

NTA UGC First Paper Planner Volume-2

257

YCT

Scanned with CamScanner



toic:|
fezret

Y

. fred (1) T2 v faed @1 e @ o
it ar, frepd fafa fafen dv @ Tafs fesd- @i aeda

feamet T o aftee T o, 3y d)

72. ﬁwﬂ&mmmmnﬁnﬁﬁ
(a) Thef &1 fawm amam

L A ey anfaa—:mmmﬁfuamqﬁﬁ
%?n‘% 78 fes Ffem few fafy @0 5=
7 fawg-aw & gomafenm T #iae YW e &
T WEE FUOF TN & @ W 39 g e f
i & i o wa 8, wh fwm fafa srem fafi
(Lecture Method) Feemt 21
A 3 AR, afe fww gfed @ osEm @@
foag Wl #1 Wy &390 &1 Y9 #39 § 3R W,
W w2, a6, wed, 9%, fm, wifa, e i
I foRm IUEEl W WA FX A AN @
e F 9 T W T4 2
73. Atz ®ma= AW OTF GEuE ¢ B §, @l i
H HIT-0 T AL T &7
(i) & TF IfEEA T4 2
(i) TS oA FFamA 8
(iii) Fo e famm T ¢
(@) (i) 7 (i) (b) Gi) 7 Gii)
(c) (it) ¥747 (iii) (d) =ae (i)
UGC NET/JRF Dec 2010
Ans: (d) YT FHEF-T O TGO &, T &
e _— ma f=fafen o yvm

- FI & HMR W GE T
™) =

ailé:aﬁgﬁ:qﬂﬂa"r?l
77 #ii-

1. 90
. 2. 33 om Ffew T #

74. TAT (A): HTE AL I T 9T FHER 97 98T
T (R): FHifF UF WY 99 91 A 3o T W
fowr v== @ fm =

forer i @ wh T PR

(a) {maﬁzmmmﬂaﬁumé HE
e 7

(b) {A] :ﬂ’h tR) EFIT [A) F

m%%%\ T 8, 3l (R), (A) T T
@( ) &, (R) 379/ & 3 (R), (A) #1 &8

UGC NETAMRF Dec 2011

gw\)

Ans: (d) S99 F4A (A) F FIER A AR e
I+ O foa Uz w2 uw e W amia e
FAF 1 TH & W TE & AR i s o e
2 & u% 9 99 a1 98 IO 9 1 faea gdS
an fid ug 9@ @fE a8 wavas a6 F fed e
R fogm fag 92 2 @1 3076 ar) fog o3 w2 @
T YEE R (R M sr a smmm E
TF WY U9 4% 39 IM W foEs 99 ax fad
2 Ffem =0 @ ) 37 R S0 (A) TEEE g, FR0
(R) 3184 & 3R (R), (A) F &8 = 2

75. ®AF (A) : UEE! @l AT H ATAH &l AT

Teramal § @l I @A §, 3

UEE WY AT W T Afirn vy

B 1

iy wTy ww wE & g g

WISl WIS &ET &

frferfan § & W T g

(a) (A) ¥ 2, (R) YiFmma @ 3R (R), (A) 31 Wal
AN T2l 2

(b) (A) 3W & (R) &= ¢ 3 (R), (A) @ @
A B

(c) (A) TiEeg ¢, (R) ¥ides & 3 (R), (A) &
qé e T 2

(d) (A) YFTEE &, (R) § & 3 (R), (A) A wE
AT T/ 2

THUT (R) :

UGC NETARF June 2012

Ans: (a) FF (A) Uedd @ qoil H HoEd @ &
fomml § @1 s T € 3 wedt 9 qaen § T
Hfyw Wy B9 2 3o i 3w @ fF SR
I g HHY FA & add § i & @ 439 -
T FE T W ¢ WU T F e e
Al fml # sifirs @ )

FR (R) FIfH, AW 0 F4 & o0 g FE 3
AOTH FTAT {0

afz & T A Y 3R T i 59 54 B
& & AEE A A% W@ Al FEE A §H W Emfas
2 & 37Ty T3m)

I T (A) T ¢ 3 FAOT (R) THER € 30 (R),
(A) F1 TE =W A B
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76. FUA AfFHIA-1 3 Afumaa-11 w Ew =
afre frar fedr m& =t =g = = Sf-
Afrmew I 35 @i ff ghw T 2, IR

(c) An explanation /AHTEAT
(d) A description faato
UGC NET/RF Se

AEa AUE WW | W uEd ©
éﬁﬂﬁﬂﬁﬁﬁqﬁﬂm Hd:
o HuAT wefe = | wEeE afge
wE & W & A e g 8 gh
F IR g g, e fa-war i | 7

& Frw ) wi i vﬁm@@

3t 11

IuF o & s &
e
(a) Faa- aﬁtmiﬁ

U(;(.YEII.IRFDMZUIZ
. T A uF faur 8, 51w H, @
T = G oA @) oW R &% a of
Wi 8 %, af ged SN el e wR w6
T wfey i wivwee- § s @ 7 ama ¢
waifeu, sl sfiEga-1l § ofom & g=fifs a=i &
wagm 8 e Feaer 3uE fafsm amEmomsd w
yftanfed 21 o1 & ddhaea &7 gfe & a8 98 &) I
FfvFeE-1 3T T TG 7 T g
77. WEId O UT T SN AU To0H o ad A0 &l
HUA ;. WA W UH [YET Ud g3 TIRUTe arAr
LU
T o(i) B, T§ NEWTE § WETER Wl WA

Ans. (b) : Hﬁﬂﬁﬁfﬁﬂ?&ﬁ
i & T A
firn & =9 giv

LETICo!

the following statements are given
atément :

I. All girls are scientists

I1. All scientists are peacock
Conclusion :

1. All girls are peacock

11. Some peacocks are scientists

then pick up the correct answer :
afe ﬁmﬁ-fﬁw s feu o §

waH

1wt weferat 4t €

1. v+t s Wi §)

forend -

1. wuft ergferat @t £

11. $% Wit 3 €

a e I ﬁ :

(a) Conclusion I is right /e | %1 &1

(b) Conclusion Il is right/f7=Fd 11 T 21

(c) Conclusion I and 11 both are right /Fssd 1
21 11 |el 2

(d) Conclusion T and II both are \\mngfﬁTEFﬁ |
@ 11 & e E

CG SET 2017 Paper-1

& T Tgvagut it Fraramm
(ii) TE, wE IuEw afretdl @ w@Re
favfa &= & TR o
'q:T:!.':
(a) Faa 7 (i) § T4 21
(b) et a% (ji) & v4el 21
(¢) T @ ¥ad £

Ans. (c) :

frsrd 1 @1 11 2 w1 &)

(d) = T H T @ 0w e w6 8
UGC NET/JRF June 2014
Ans: (1) TEIA GAHA =0 FE F TEd @ A
YEOR W &% @ @ Safen 584 ¥peEn i ﬁvr
fierr) aaemfed @M = & domeEr sifusd em
(a) 594 21
WA # g7 WA @ @ H e e A d
A WPTER F TR & A fevram
gmﬂaﬁmﬁfwﬁmmaﬁﬂﬁﬂhmnm
|

78.

A cluster of prapn.'ailium with a structure that
exhibits some inference is called :

g gftsfta oo fawet d@wr w0 SEE

80.

If the proposition “No men are honest™ is taken
to be false, then which of the following
propositions can be claimed certainly to be
true?

oy yera '@iE gE TR TE § @ e
WHAT AT &, A ffefias § |§ SE-a1 yae
Tafiye v | W< 84 &1 S fevan 1 |ahar §7
(a) All men are honesy @t @ FoEr €
(b) Some men are honest/§& &9 T ER Eﬁﬁ %
(¢) Some men are not honest'FE Teq EFER T %‘
(d) No honest person is a man/@s ff arER
= Fg T 2
1IPPSC SET-2018

avﬁ?ﬁ &, 0 =g A E-
(a) An :mpllcntmnfﬁ'lf'a'ﬂﬁ
(b) An argument /A% T

Ans. (b) : ¥ "'FE TF9 MHGR Ad @ & I W
A 2, Al “Fo e ameR 8 wEE & BRE s d
g B F1 S0 RO S T 8
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Adii) B 3TTeRfer
(Mood and Figure)

Which of the following codes correctly
represents the figure and mood of the

argument? WA- T qhaET &

81.

e Ty Y T B F yea @ €

All businessmen are scif - confident

wft =Tt aner-fagrd 2 f

No sclf - confident mcn

are busmcssmln

' 7 ATt et g &

mﬁau@mqm
(a) AEE - | (b) AEE - 11
(c) AEE - Ill (d) AEE - IV

NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)
Ans. (d) : T ZId aTEfaErd a4 e- A
e faura afea &1 ff =fs oififs 38 &1 8- E
= F13 0 s =afs e 98 W & - F
fa. =,

T 3.
— ¥ (IV
T (IV)

wﬁ;#mmqﬁwnﬁﬁwémﬁmm
A El

82. Which of the following code correctly
represents

the figure and mood of the
argumnnt?!ﬁﬂﬁ%ﬁﬁ'&ﬂﬁﬂmqﬁﬂiﬁ%

MR TLT UhIT T Wl Ty wear &7
No musicians are [talians
wifrae seelt @ =
All barbers are Musicians/a¥ft arg diftaar
Therefore, No harbers are Italians
3T: TS T3 gTll o TE §
Choose the correct answer from the options
given below
(a) EAE-1 (b) EAE-1I
(c) EAE-TI (d) EAE-IV
NTA UGC NETARF June 2021(28-11-2021 Shift-1)
Ans. (a) : F1F TAHR 3Zel F A 21 -
aft 7 @fmEr &1 - E
I F14 AR 3 F A él -
o &1 AERI- E
nfa.

3R -1
2fa

e & FER

3 T EAL | 5% & 2

¥A: faweq (a) 9 #)

83. If the day hefore vesterday was Fridgy, What
will be the third day after the “Nalter
lomurrm\'
afy & g & w At
= r:nﬁr A&

(h) Salurdnym
(d) Wednesday/d9aR
'\I' T JRF June 2020 (9 Oct.) Shift-1
29 did U & A Ugel @ fad YpRar A1
Al 39 & faA fEn 8
3d: HH arel Fl & 912 1 2 GeEr 8
| [zufe 3 A we F A drea B gEeEn g
8B4. A man walks at a speed of 3 km/hr from
location A towards east for | hour and then
turning left walks at a speed of L5 knwhr for 6
hours towards north to a location B. The
shortest distance between locations A and B is
TE &fwm = A § A oy &
foom % 1| @R = wer § war IuH 4 an
gEat 1.5 faft. sz &t wfy @ 3o fewn &
3T 6 ©e 7 T 7 et f1 T A o B
& dfter & =gaw g ifi-
(a) 10 km/10 T, (b) 12 km/12 1.
(c) ~ B.54 km/~ 8.54 f&it,
(d) ~ 9.48 km/~ 9.48 f&fi.
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1

Ans. (d) :
(d) 5
1.5 fft.amer
3 fafawa ¢
A FR C& mer gh = 3 fft/ame x | go
= 3 fadi.
CaMBFH raAgh = 1.5 A ava x 6 guen
= 9.0 .
A HIT B & 7 = 28 -
AB?= AC’ + CB’
= 3] + 92
=90
" AB = /90
= 9,48 fFt,
85.  Quantity and quality of a categorical
roposition decide :
%RR qme O @t wEr ofm T
frrtefiga @ fota st -

(a) Validity/dem (b) Invalidity/3Taeal
(c) Mood/3a%a (d) Figure/3hfa
UGC NTA NET JRF June 2020 (24 Sept.) Shif-11
Ans. (c) : [l qw@E T a=g 2 TE AR U 38T
sraee fauifa st 2
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86. UH W aFiwmiier weherw, fwed gfts &
ﬁm&aﬁﬁmEmmﬁuﬁﬁrm

forar wman &, Feite # | fewal gmo @

T §2

() 3ETHEU] (b) T sz
(c) mﬂﬁwm'—mé (d) RN

() (@), G) () (b) (a) 3 (c)

(c) HaeT(c)

(d) (b), (c) 341?&)
LUGC NTA NET 2019 Shift-1 (3.12.20
Ans. (a) : U& URT FTENE d6haM

e =1 faefl O 3nun & @ e

g, @l qursmm, T
# o W 8 e

femr s
: YR & w5
sga\an, ) 3 3Tt o sisa 4
armieqﬁﬁm LW R oW F WY §
g i m‘mammmﬂwﬁu
% A % AT waite AT
(c) Fd (d) =g
UGC NTA NET/JRF Shift- I, Set-07 June 2019
Ans : (b) T fofq 9 & I=m FET I
(
& TEET f (t) T Wit T8 war?
1.
+3

WAE FT W BT &, 3 /oT
T HIAT ST B AT
FA & T 2 T I AT & Wy F
A’ T TR W N 2
fit)
+|

(a) wHl-guR (b) QoA
8. b =

2.
fir)
\/ \/ '
-I —————————— L
3
+1
fl)
0
t
4. +1
fin

1

(a) 1 (b) 2
(c) 3 (d) 4
UGE NERIRF Rec'd
Ans: (c)mqmmﬁi‘iﬂ N Y & T
e E I &0
3 ol S| T8 &0

(d) T srfirgfa

UGC NET/AIRF Dec 2010

Ans: (b) @1 F AIAE-304% w1 &0 & T84 Al
AT w9 6 Afiers f e w1 oawa @ Tl s
Heers A, T wfagha @ f gt =g
A g fhar s g @ e dafes f=fa i

i &9 § w6 fEa o e 21

90. A1 aUTa A |ig GdTa aool | wATel o BT B

g Pty 9 foe o=d @ sEwr §

(a) FEER 3T

(b) sfafruams (Hig-gavFe) FeEe

(c) TWT Sof ayeEga

(d) WS 3T

UGC NET/IRF June 2012

Ans: (b) A1 @ulg < T 94t w=ai 9 9@ = 2
2 g8 wlafamrs (Fie-Gevee) 3Ead §) 98 e
(3R A sETTeE T ) aviAeE st &) it
T A W G @ A A sl deh § TR
i # e Gl uE o afes = F R w
FT B
91. FTeTiE@s ®Ua waT feu WY aek (1) 3T (2) WX

fo=m &t :
ggyftr & @il & <=

HAA: T AT Es
W W w ot wle s enfre?
(1) B, TE TSI & TG @y AT

(2) 7, AW INTHT TA W WA TAATAR
friifiral & Rreg g0 we e W
o WrerTE= frerm
(a) F9a T (1) ¥4 T
(b) HEd 7 (2) TS g1
(c) B &k wae &1
(d) B4 F § @ 7 a8
UGC NET/JRF June 2013

Ans: (a}ﬂ*(umwmﬁawﬁmaﬂgwﬁ
T @9 W A @ W e & ST
% T =i e =i 9" Ta oW i w2
W 9% Afam = & wig-mg wguivs &4 3 of
FAW 2| oE UF o S w3 aeeta, s
T e
ﬁ(:)mwﬁmmmwﬂmaﬁ
W Wy @ ® onfiE g 39 TeRiies e &
faee T2 wmwdl wd & § WA T el =ifE
YIfed a9 W 3TET &1 SaE T8 W

3 Weh (1) ¥t 21
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92. frfafas saw W faem &t faus dedu 9
& (1) 3t (2) Ry o E-
HAF: T AT HT ZEA TR TR ST =ge?
Weh:(1) B, 309 AR | futar sudefn
(2) =, 3oW wagEmRN W wH= Hiww #
B
(a) Fa@ @ (1) ¥ £
(b) Faa T (2) ¥ FI
(c) @i 7 wad 2l
(d) &1 & § FE b wE| T &

Wwﬁmaﬁmmmwﬁ
1 wfafafu w8t foe wEm & vaemErs 3 uhe it
& s 3 4@l SE a8 SEd 2

(Formal and

Informal Fallacies)

Ans. (b) : TARE T4 98 ¢ [SEE T O &
wmaﬁm%ﬁﬂmmﬁmﬁﬁ

21 Tl

IR ¥ TE ﬁ_‘ a5 &
fayermu W @ & o | 791 &9 ||
1 T 2

are two statements : One is

ﬁk s Assertion (A) and the other is
efled as Reason (R) :

F waa fag o ¥ fomd @ wwm @
sfiaama (A) 3T gE & T (R) T T4 §
Assertion/ TR (A) : Since the perception
of hardness is not necessarily connected with its
colour. it can be said that all the perceptions
seen conjoined but never connected
T @ A W (T W Imavas w9 A
it = & Tofew oz = =1 wwa & @t
oy UgW W B § e et dafte =il
#a &

Reason/@h (R) : Causal relationship is always
contingent and probable because it is derived
from experience ~THUTEh Wy wWeg
e 3t dwifaw g § @ife ag argva
| T B §

In the light of the above statements. choose the

Given helow are two statements :
Hrar 2t wa= fau T §:
Statement I : An informal fallaey is one that

may be identified through mere inspection of
the form or structure of an argument,

wFOA |: aw & =
Teh & WHU JGAl GTaET o T o |
Tenfua faam = @& £

Statement 11 : Formal fallacy is one that can be
detected only through analysis of the conient of

the argument.
&g 11 sfuerftes gemwmw @g & fowe
wga wd @t - & favear @ @ @t

T W
In the light of the above sintements, Choose the
most appropriate answer from the options
given below :

T & e #, A R T R
T Tad I0g I A A
(a) Both Statement | and Statement 1l are
correct) HGA (1) I (11) &F1 wél €1

correct answer from the options given below @
Tr=iteRa

H L |
{a) Both (A) and (R) are true and (R) is the
correcl explanation of (A)/(A) F (R) a1
HE & T (R), (A) FT & A=A B
(b) Both (A) and (R) are true but (R) is NOT the
correct explanation of (A)/(A) (R) =1
T & W (R), (A) FT T e T )
(c) (A) is true but (R) is false/(A) Tt & T (R)
mé T 2
(d) (A) is false but (R) is true/ (A) #&l Tl 2 9t
(R) & 21
UGC NTA NET JRF June 2020 (5 Nov.) Shift-11

Ans. (nl ; HAMA] @l AlY 3WG 1 @ EvaE B9 §
Fafer 7 F@1 1w ¢ fF T 4w
Hﬁrﬂﬂﬁﬁqﬁaﬁﬂﬂﬁﬁﬂﬂﬂﬁmﬁgﬁ{mm

FNEE WY A4 MRS 3 Hwifaa & @ i
a8 & 9T F 2

W TG AR AE @ W @ o ad, A 3w
=T 2

(b) Both St £ 1 is i 95. :(ége% below are two %laiemcnts:
o atemen an tatement are T faw Ty £
meorwel (1) 37T (1 =5 e Statement/&R@T (1) : When we perform an
{c) Statement l is Lorreﬂu but Statement [[als experiment, then the set S of all possible
(d) :E?ﬁi:?ﬁ: l:niilrrecl but aé?:téll'riﬁl Elli outcemes Iy called the sample space/¥W B
correct /A (1) T 8, i &2 (1) T 8 g Iﬁt?ﬁ"ﬂ"ﬁﬂ' FE TRUTHT T Wed §
NTA UGC NET/ARF June 2021(21-11-2021 Shifi-11) wfergel ww wgear
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Statement/&E (I1): Any superset of a sample
space is called an event/fordt wiveyl ww =
iAo 'gde’ HEer gl
In the light of the above statements, choose the
correct answer from the options given below:
wu s o Bt e
AR I
(a) Both Statement | and Statement Il are true/
2 1 3R 11 T4 8 2
(b) Both Statement | and Statement I 1
FI9 | 3 11 FHT T El &
(c) Statement I s LO]’ILL
false/&a [ 66 ¢

(d) Stateme 1 bl'llcml.nt Il is
lmuﬁﬂW@ FoF || T &

UGC \T). N June 2020 (5 Nov.) Shnl‘l 1]

1 wiaeyl wo mit g oftomd &

39 wam § 7 ‘Fa Wi @ @

tement® I1 is

T E-FIT%‘I
A &9 | 781 2 3 &HuA-11 Ted 21

96. What is the nature of a logical argument?
Choose the correct answer I‘rnm the l‘ollo\ung

gftn @1 wgfh @ gt
T |/ WE ITHT T AT HAT:
(n) Justified or unjustified/@ifed 3w T -
B DG

(b) True or false/T&l 41 &
(c) Valid or invalid/@y a1 31dy
(d) Verifiable or not verifiable/Am@m=g  31ga
£y
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1
[Ans. (c) : Tham qfw a1 wgfa a1 @1 a9 1 3139 e 2|
97. I < AgH | e 140 7L IGIE0T U1 fa=i
it —

(a) da A €1

(b) iR T Ham 2

(c) &7 31 &l &, Jgi 3 &t &

forafefaa & & @ w1 3w anfia (fraa

AR o Hay ) & afenT s g

(2) v 3 31 & "o Prad wead @1 Hay

(b) Ya R ¢ & 724 fga |Eed @1 g6y

(c) T 3R i F w1 fam AEad 1 wAw

(d) I 3 ol F W frgm AEed @ Hay

UGC NTA NET 2019 Shift-11 {5.12.2019) Set-8
Ans. (c) : oI & wf=s 37 2 favw &9 § 30|
aawhf‘wmmquammgmm% @l 3T E
8- @fa e ¢ FifF g @ wm ¥ i we f
slq @ awgel @ fadm wAw @ ot Fed 8, At
7z favm = &, 77 favmw me= a2, 3 s
71 fram owed sl gnen & vw & Wy R 1w
wEad # 3 2 fF vF Wg @ adq gaew @ vs W
W 9Ed vd faset § wead g4y @, dfFT sE-va
il qut % fEn 0 A @) ag Wew enfRa

aﬁr—rmmfgmmﬁaﬁm
M F 9A & B g @ ovE

Teh UY] &) 3: TS @91 F1 Toh 981 0Y]

{;n”&;mﬂammaﬁﬂﬁj

(a) 1A (b) fead =

(c) e (d) ©wg @9

UGC NTA NET 2019 Shift-1 (3.12.2019) Set-3
Ans. (c) : "IF1 UF ] €1 30: UF T2 @ UF T 9]
21 T T F i aFEdE adem fame 2 R
TR F U § avE wd w38 s = R g
TE e A9 3099 gl & 54 (G Um Ug 91 aene
1 WA A # Fo-fr v W are-arem i
E S F o A Qi &1 g e @
3 21 I 7Y Em A i 2 3w AR T o T=
FAFET 21 Y99 MR G § 30 U & $E ol
F 3 W 30 fad e 1 sAe y@m wEw gz
F od 7 gam & T o Al @ s fae
g@aﬂmﬁtgvm% sfad @1 TS 3 W
YEX F & 2
it & fawa § g9 @eq @ ik gufe & fwg § @
foFan smo & 4@l WE A @ g R
99. afy a7 afiwy= fr 'go @ do=er B &
aae ¢ oA Proafafes § 9 - afiwas
wea g S fou T wd wig @ wa Sifa-
(1) Tl =ik 0N & &)
(2) % off =afe darer 8 g
(3) T =itk $urRR T A
(@) wh =fF T80 8 &)
e

(b) (2), (3) 3 (4)
(d) (2), (1) 3R (4)
UGC NET/IRF June 2013
Ans: (b) NYATA AGFTA- "FT AH IUAER 8
m m ferar s/ 7 ﬁmﬁf@ﬂ fam = é—

ﬁammmﬁﬂﬁﬁﬁaﬁﬁmmm—
1 s o zaf AR 7E dm (' E W)
z.gﬁﬁaﬁﬁénﬂar{wﬁﬁﬁfﬂi(aﬁﬁmmﬁﬂﬁ)
3. 7fl = A @m &) (qf w9 F )
3m: fawea (b) anfie Z9t &

(a) (1), (2) 3R (3)
(© (1), (3) 3R (4)
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'l see a picee of fragrant sandalwood' would
correctly represent

N wiftm o= F & e @ dEd §
feraam it aufa 872

(a) Gyanlakshana/3TH G107

(b) Nirvikalpa Pratyak:w’ﬁﬁﬂ HF'W
(c) ‘%nnmngahkﬁhnm'
{(d) Yngam’ﬂﬂﬁi
NI‘AI(‘C \}

100.

ﬂ (25-11-2021 Shift-I)

Ans. (a) : ‘M gﬂigm'&@ﬁilﬂﬂ
‘t.‘l
1 helo® are two statements:
2t e feu o §:

Statement-1 : A formal fallacy is one that may be
identified through mere inspection of the form or
structure of an argument.

=T (1) ; ; Ty =% 8 fd ad-aem aPr
HFRE m-ﬂ & e @ fafeq @ =
T 2

Statement-11 : Formal lallacies are found only in
deductive arguments that have identifiable forms.
AT (I1) : ITEfE ZEMm Faa A a6
T T O T g o s e g an
In the light of the above statements, Choose the
correct answer from the options given below:

IAh FHUF & AEAF o, ey fqu mu frweat
o F o I @ = aﬂﬁrq.
(a) Both Statement I and Statement 11 are true/
T (1) 31 (1) 1 79 8
(b) Both Slalgmunl I and Statement 11 are false/
FZA (1) HT ([1) TAT HEH &
(c) Statement | is true but Statement 11 1s false/
F2H (1) ¥ €, W Ha 6 3
(d) Statement | is false but Statement I is true
FUA (1) WO 8, AR T (1) T 2
NTA UGC NET/JRF June 2021{22-11-2021 Shifi-1)
Ans. (a) : TG =T a¢ & (99 ah-aEE A
M WA & i o 9 fafea & o g @)
SiTqaiias BT Ao AT oA f T S 8
¥A: FYA | A9 1] T T R
102. Which of the following statements expresses the
informative use of language?
Froafafes & 9 9 @ S99 T & e
I @t 2fieaTh St 87
(a) Get out of my class/Tl T2 ¥ T ¥ 94,
(b) Why are you so late?/39 361 faafiaa #ii & ?

(c) 1 request my students to be punctunl!ﬂ HH
oHT & FHAHS WA & WU &

(d) Shl. IS very carin,
G FA

and cooperative
% ’%
UGC NTA NET JRF Jun ov.) Shift-1

Ans.k(d] : 7 Erkreurcid

A

anﬁmmﬁnmt
s wew {1’ T faw wan & wighe

-g-;
(a) TRTATE (b) TEIEE
(c) gfo=ili (d) HYURTHF

UGC NTA NET/IRF Shift- 11, Set-08 June 2019
Ans : (b) : UF o Fa7 0 o0 & IR S8 2 -
T8, I e ¥ 9R UF AEEE 2, #iits 71
&R & wfagfe &1 femedl o awmes yaE gem 3R
& TFa ¢ fF 9z afgs § fim areh g foers &
A T A B0 R O e e S S
TS w E I9ET FLN Gfenl TEE aes

ﬁﬂﬂﬂﬂﬂm AR I g fgra =+ @i

YT A Bl

(a) ELiy
(d) T

{c) @I
UGC NETAIRF Dec 2013

@l AER

(b) A

Ans: (b) ol fag= &1 498 us s H9uReT @
st Azl are e AR HEE & AR
VAR F ¢ Gaaw e R favaes &
ufte #, wifga sauron W s wER & S
fagiamas a 451 @ U@ @i HgEed 3

HEAYIEAER T & ¢ |
VIeET T TeaTy 3 awad

(Connotations and
denotations of terms)

105.

The word 'Pen’ mnay denote either an
instrument for writing or an enclosure for
animals. Such a case may be understood as a

I'n!ial:\ of
U’ T W @ IUGTUT radr [ 3 arg

wwﬁmt@mﬁﬁﬁﬁﬁf@ﬂﬂ

| WTHT T ST AT ST WS 91 Waha §7

(a) Accent /&=UHM

(b) Equivocation /GfEmem

(¢) Amphiboly /3T

(d) Composition /AEZA

NTA UGC NET/RF June 2021(24-12-2021 Shift-1)
Ans. (b) : T I TE TG 30T AGH A A8
T qOF § IFA| ¢, W & UH A9 F i w5 am
FET W HEA &1 A § T dfevaw &7 28 U vEy g
2 foweh 2 us e § us fafere ves 41 9 @ uw
T atfirw ardl & T @ =9 ° w4 fem s 2
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106. The set of aitributes shared by all and only
those objects to which a general term refers, is
called :

TR Wil & Agead W hae aur 39T it

Tl W st gt fe uw T ue g i

ferar s &, weee -

(A) The intension of that term
IW T &

(B) Connotation of that term
IW TS &I

(C) The extension of that term
I g &l fawmw

(D) Dcnntntmn of that t

Chome
0 ti

s gi%en
(B) unlym_-f (A) aﬂ'{(ﬂ}
(m and (C) nn|yram (C) 3R (D)
(e) (A),(B)and {L}onlyﬂﬁﬁ (A) 3“"!{(,]
(d) (A), (B and (D) only/FTd (A) 3 (D)
NTA UGC NET/MJRF June 2021(21-11-2021 Shift-1)
Ans. (n) : U @RI &1 H=d o Fad ad 3 @l
a@mummmwmmmsﬁﬁ%mm
2, Feam 2-
(i) 39 1% &1 fmE (i) 30 92 T wrErdEa
: fameq (a) T 21
107. Tetu-sqE & wmsa foma ° Aelaiea |
| fpq yrammned & darew @ faemardt
AT Sl §7
(n) \EfiF sftaaras it g FEas
(b) TEHinE sfamEs W v AiaEs
(c) Ty wiftares 3in A FEus
(d) fasms ftraras 3ix favm s
UGC NTA NET 2019 Shift-1 (5.12.2019) Set-7
Ans. (a) [U997E F WEE fd 0w
sftqaras M oevfrs fovs, Toamasd & Saee

No.fFtafaa aftarer &5 gHie
wmmmaxﬁtﬁéhr—inﬁaﬁﬁrﬁu
(a) e

NET/JRF June 2012

amm @ ffe gan
S & T g s A F %=
g frfw g @ €0l sm: T
Wi faurES g

U ° &I-01 &I 30 &Y & [aaid
& for ' wafem $wreT ol B2

(a) Tl =fa famEn @ &

(b) a:ﬁﬂiqﬂanﬂ"ﬁi?

(c) T3 Al SAMER & 2wl

(d) STgEa =

UGC NET/AIRF Dee 2012

Ans: (a) “FO ANH AFEK A6l @d AW §H FAH
4 fa fme § & go ot feer gd §) o
&g & faulia g “off orfs farer &h §1

112. =ATH OieameT AT o o s=-dt sgt or
TFHAT 37
(a) SN wHWT T @
(b) S0 em foem @1
(c) st Fft = &, il faem
(d) =1 = §eg & A fgen
UGC NET/JRF Dee 2013

Ans: (d) TWHffE oo =1 =0 T T 3w F
HIURON § A3 Al W Wl g1 98 US [auneEe
sf=afs & == @1 =W 6 21 S TEmo
SRS FE [ArEER #  E)

113,579 J3ATal & 99 | U@ Jana § ogwned ael
A, T WAl 1 9% HUE SHEeig
(a) U T (b) TF 99 TEA
(c) TS TIH=FAN (d) TF IEY A
UGC '\I-TI.IHF I)cc 20|4

&1 fatumrEl g S 2|

108. "' TIY WIS WA el g1 1 2T
(a) T2 W4 AT £
(b}@ﬁgﬁ:mﬂﬁﬁl

(C)Wﬁﬁﬁﬂmil

Ans: (n;mmmwjnﬁmwmq
Fafed &F TG, @ WAdE & 98 WE Gond
FedN| 48 51 91 & § Afow Fed FHgar a9 &
s @) Foed 3 2 san Fread gm dm )
TN U 9NN O T UF ol W § YR W
foewd wimmfam faw wma 21

(d) ®¢ TRUTEE T A 2
UGC NET/JRF June 2009
Ans: (1) “@1Y HA FOTYA AE €1 & AHNS ¢
O T WO §
109, T & &

UGC NET/JRF June 2010
Ans: (b) FfEmm wEeH &7 @ 6qEedEs ¢ adih
fafi @1 wia an o & =f A e a2

114. <l =1 WHE o0 0§ WE-1 W S g
fafifde € wafe w@gg-11 § I9& gEw
W Wwwr @ Auia {1 ST WE @
ifem =i 3T IUgw FE & IO FA Y

31T TET B
|E-1 -1
Efsa 9o yara) | (=T UTe draEm)
(a) |3¥4 TR [i)'s’mmgsngaw
=@E 3 8
(b) |HEuT YAl (it |[§ Ho=r 9@ YA
3'?!1?—ﬁ?ﬁ@!1ﬁ||
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(c) |=a9t wEwer (iii) |[F@ =g 21 X
(d) [ sawRm |Gv) 9% 93 w9 o g Tertrer =1 oW 9 d\}
(¢) |@ wama (V) |59 7 7 @@ I (Classical S 0{33
T e ] Opposition) %
(@ () (@© (@ (e)
(@ @) @) (v @ (v ||6 Match
by (i} () ® (V) (v} su r fal[n“mg in the context of the
(c} (iv) (v) () () (1) Oppusmon of Propositions
(d (i) Gi)y (iv) (v) (111} List-l List-11
UGC NET/AIRF Shift - 1, set-3 19 D¢ 291 a - - . "
AT () | » ro mllu?ns_ Square of Opposition
r A. |IT'A'is False . |'A'and'l' are False
1 B. [II'E"is True 1. |'E"1s False; 'I'1s True
(s wadt yarm C. [IT'T is Falsc N1, |'E' and ‘0" are True
‘* D. |II"'0"is True V. |'E' and_ T are
21N, : wase the correct answer_from the options given
) ‘a.rﬂ {fj ?anﬂxél below/r=r ﬁqmﬁmwﬁaﬁrm‘-}gﬁq@
HAHE 01
i (u}m = Rl g;ﬁq:;ﬁr lmgnﬁ'maf’rl?rqﬁ:
- -1 -1l
(c} 3T Soie (i) |39 FeT ¢ . A. |5 A" 36 21| L [A 30 T o 8
(e [ e () mmﬁgn@wﬁwa B. |3 'E' Fag g1] 1L |G 3 g 1 3 g
115. Consider the statements (a), (b), (¢) and (d) C. |37 R T a5 81 |11 [T 30 54 21
given below. Which one of the codes contains - — e 1:‘ e 3
the correct statements only? D. |37 0" 378 21| IV. [’ 3] gl
o =m we@E (a), (), (o) 3R () T frEmw A B C D
wif frafafies & & feg & o Fae oft ((g% ]|] Illll :{1 I?’
aurfae g7
wET & © oo n
(1) \’-.nn dngram 15 n clear method of notation. () 1V 1 1 I
G 3@ W F B Teld 3 _ NTA UGC NETARF June 2021(25-11-2021 Shift-11)
(2) To diagram a standard form of a categorical [Ans. (d) :
proposition, three overlapping circles are T -1
drawn. /1 5 & A &Y o — X
ﬁm‘ﬁmm%@éaﬁﬁl A Wﬁmﬁlﬁl [V.Ihlﬁf'm3|
(3) To test a categorical syllogism, {(wo B. |5 E' 3 B L A . I' 37 1
overlapping circles are drawn. C. |9TUT 35 g1 TR EE TR
faft Fr e & wlerm &g @ Hfa=mm |[7D. 30 s 81 | 1L | R o 8 1 A )
qa Hra Wi o € | 117. Match List-1 with List-1I.
(4) Venn diagram is a method of testing the List-I List-I1
validity of categorical syllogisms. Proposition in Square Resultant
99 g qraarag &) s & of Opposition
i # T TS 8 A. IF'A' is False 1. 'E' is False, 'I' is True
Code: /< : B. Il''E' is False 2, 'A'is True, "E' is True
(a) (1) and ("}ﬂnlyfﬁa (N 3f|'{ (2) C. If'l' is False 3. 'A' and . "' are
s o Undetermined
(b) (1), (2)and ':3}Ulllyfai| (1), (2) m (3) D. If'0" is False 4. 'E' and 'I' are
(€) (1),(2).(3) and (A)/(1), 2), 3) 3R (4) Undetermined
(d) (1) and (4) anly/®ad (1) AT (4) Choose the carrect answer from the options
UGC NET/JRF Set-1 Shift - 1 Dec- 2018 given below:
Am[d) Iﬁmﬁgﬂuﬂmmﬁma@aﬁaﬂ @Iﬁmllﬁ@mm
& WE & W= Fa1 A6 | WYl d o a qeft-1 w1
areh TG WFfadl &1 49 3 Tl o g Tehataa @ fanr-ant freed
frfafes & @ = 32 o & A ITA' R LVE' WA, 1 T E
{ajﬁqmﬁgaﬂ?mqaﬁwuzﬁél . B. a0 'E' WA & A’ @ R, B wAE
(@F e Pl PRI e @ s F C. 3 'I' 3@ & 3.'A' 3 0’ eFmife &
udior ) uF e 21 D. 3 'O’ AW & 4.'E' 3fw 1 arPruaifta &
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S Fem T Fareh W 9 A T gl

A B C D

A B C D
(@)1 2 3 4 (b) 2 1 3

4

©3 2 1 4 (@4 3 2 1

NTA UGC NETARF June 2021(26-12-2021 Shift-11

1

Ans. (d) : ¥l guieH oI
Tor-1 -1
(78 T & ( Foredd )
fairg-ant )
(A) 3T A’ 3EE 2 (4) 'E' FT
(B) #R 'E' 3764 (3) A" 3 QY
(C) 3 I 370 &

(D) AR Q' FIEA 0
118. MatchLl
qﬁf“vlﬂaﬁﬁm

19. Match List T with List T1

List LGt 0 List IT

Ina square of ltan
opposumn f ? <
I. 'E' and T
propusitions  are
( @e‘m Undetermined/'E'

£

dm 1 A T
& -q-gfg- e &

B. If 'All men are I. 'A" and 'O are
Tall' Undetermined/'A"
False/afe mﬁ 3f 'O arfaiiga
i I
T E

C. If 'No crows | HL'E' proposition is
arc  white' is False; 1

True/afg ‘ﬁ':.‘ proposition is
@I Whe TE True/ 'E' Feharax

ot T §; 1 dedhae
wit €

D. If'some flowers | IV.'A" proposition is

are not False; 0

fragrant’ is proposition is

Falserafg ‘5o True/’A’
oy T S ™ 'O
P ey AT Tt &
Choose the correct answer from the options given
below:/Arr faw o fameat # 7 Wi 3w g
() A-I,B-NLC-1V,D-1I
(b) A-ILB-1,C-1V,D-1I
(c) A—III,B-IV,C~I,I)-I!
(d) A-IV.B-11,C-1,D-1Il

NTA UGC NET/ARF June 2021(04-01-2022 Shift-1)

Ans. (b) &l gafera -

el qEt-11
( 7k avEt & fandt (afomm)
wIgd #)
() a2 F@ wgfaa | | (i) é'.. AR Q' HHATEA
g |

(b) a2 W gEw T (i) 'E' AR 1 & am
& e # e 21

(c) TfE ‘F3 Fam A% (iv) ‘A’ TFaEd oM # ;
B Q' T T @

(d) fd ‘F . (iii) 'E' Fa e €
& ;ﬁw‘ig T ' AT TE §

is R:Eﬁ | List 11/T=I-11
quare of opposition) (Resultant
(faTe - = ) propositions)
aTaETE)

A. If 'No stars are Dull’ | 1. 'E' and 'I' are
is truefafe ‘aﬂ? a undetermined/
whdRf ey | E o

arfafiga §

B. Il 'some Mowers are | 2. 'E" is false and
fragrant' is true/afe | 'I' is true/'E’
‘BT W GUEER | W E T
Tk wa R

C. I "All sweets are | 3. 'A' and 'O’ are
sugary' is true/ald undetermined/!
‘gift ezt iR | A s 'O
a g A e &

D. If 'some animals are | 4. "A' is false; "0’
not mammals' is is truc/'A’
true@fe 'T@ WFET | I E,
Wl AE  w R 0T R

Choose the correet answer from_‘_lhc optlions

given below/rer U T frwedt & & I

A B C )]

(a) 4 3 2 |

by 3 2 4 |

(c) 2 4 l 3

(d) 1 2 3 4

NTA UGC NET/AJRF June 2021{04-01-2022 Shift-11)

Ans. (a):

A. AlE FE AU EAEA o€ | 4.'A' IEE E,
o4 8 IO HA
B.7% 2 F@ @YEER ¢ WA E | 3.'A' IR 'O’

Hfafam &
C. gig ‘gl firagal 491 arell € | 2. 'F 318d g FHR
T 7 rER R
D.4% 'F7 AR WA @ & [ 1. B 3W O
T EE ol

120. Consider 'E' proposition as True and 'I' as

False in a square of apposition of proposition
and pick the correct answer from the options
given below . .

& faufia & @t o 'K wdharaw @ |
afr 1" =Y e Wit 3 wE T 9
(a) 'A'is true ; 'A'is True/A' T8 8 ; 'A' W& €1
(b) 'T"1s false ; 'E' is True/I" Wetd 2; 'E gl
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(¢) '0'is false ; 'E' is falseO' T & ; 'E' W &1
(d) 'O’ is Undetermined ; '0O' is undetermined/'Q'
Ffuifig 2 ; 'O wfulfia 2

NTA UGC NETJRF June 2021(25-11-2021 Shift-1)
Ans. (b) : G9AIHd & [G90A & @1 ° E adidg @ qe
3 1 91 T T T W o @ o 1 e 8, E
121. When the middle term is both positively and

negatively related to the major term, the

inference is called :

W@ W UE WA U W

TEHNIE Tl B o Wit gar &, o
g §,
(a) Based on ugiform o-existence/Te-

"‘5\{'.

al F a
vy.lhn..Luﬁ_{ A
% a vyalireki/3=9 = GLe))
o NTA NET JRF June 2020 (17 Oct.) Shift-1

ns. (d) : T4 ™A R WA TR T TEAHF 3R TERE
gl w9 § kA & # A oraa oA s seerd 2

122. Alive Devadatta is cither in his houose or
elsewhere, Alive Devadatta is not in his house.
Therefore alive devadatta is elsewhere,

The above is an example of which Kind of

pramana’

Shfea Sogw o o 3wy v § § awar faa

AT 0T O A g

arq: fifaa Tagw el sl tl

Uitk e yaToT @ S & ?

(2) Perception_and inference (Pratyaksha and

Anuman]’ﬂ'l'?-l T A (3T e ATTAE)

(b) Comparison {Upmana)/qder (3970)

(¢) Verbal testimony (Shabda)/31=5 ¥H107

(d) Implication (Arthapatti)/a7atafa

UGC NTA NET JRF June 2020 (9 Oct.) Shift-11
Ans, (d) : 1AW THOT F EW & A F A9 Gy

% ufumTEEy Uk T & @ AW 81 3w IEe i
TaEm F I W A IIRAT F IR 3E Iuieany &
== foran T 2

123.

Given below are two propositions :

All philosophers are fallible.

Hegel is not Fallible.

In the classical square of opposition. which one
of the following is the correct option for this ?
Hrer 3 ' ;
it Tyt Eram

BTt Sragr R &

fority & wenfirel o W e R Prafafea
o | H=-1 faawew @it §7

(a) Contrary/faufiards

(b) Sub contrary/3u-faufmds

(c) Contradictory/=Tdrdl

(d) Subaltern/39H4T (Fa372H)
UGC NTA NET JRF June 2020 (5 Nov.) Shiflt-11

Ans. (c) : 8 i Smem 21" A SER ]
“€rTe SreEm @ 207" O YER & e 2
I A FRO SFH F A &

fg o 3w mEn fem @
I A E 2

124. Given \% propositions :
are fierce,

@ ahimals are not fierce,
the classical square of opposition which one

of the following is the correct option 7

e 2 whsfaat & £

TP TN YEW 7

FO St GEr T {71

et & wenfaet o1 ° 30 fog frafafaa

W ¥ -7 faae wdl §:

{a) Suballern/ZM=dl (FAATEEH)

(b) Contradictory/STaml

(c) Contrary/fagirmd=s

(d) Sub-contrary/39-fauwdmmds

UGC NTA NET JRF June 2020 (5 Nov.) Shift-11

Ans. (d) : T Fal 3R favm wOA @ Ty dad)
o # frm @, Iu-favliods o Feam & o fE
WEr aEEE R dverdt TEReE & Ty
zfa &1 ¥4

_-:""--...___...-'? i
S m T
"have you stopped telling lies?"
This type of question commits which kind of
fallacy."
"I AT S e org fear 82" 39 ya
&y H form wanTT wr 2e §?
(a) Fallacy of complex question/@@ N34 A
(b) Fallacy of Ambiguity/Zad i
(c) Fallacy of]jquiv{lcalionfm AL
(d) Fallacy of Accident/ITeRIvT 2T4/3MY 39
UGC NTA NET JRT June 2020 (l2 Nov.) Shift-11
Ans. (a) : ‘T A Y3 T o fa@ @7 @
ool Wed & § 1 3w wRny e wfa ae d )
126. afg 2t YN Tsh-gAT | 30 YN Hataa &
for @ 1 U& Wa W TE ¥ Weahdl, T
21 Ush WY WEA B HWahdl &, A1 UH Hay w

125.

AT ATE :
(a) Tl (b) =TT
(c) T/ Iufem (d) 3u-faufies

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8
Ans.(a}:ﬂﬁ:ﬁlmﬁiﬂ%ﬁﬂmmﬁf
fF a 9Fi U= Wy g 7@ @ 9FA, Fufy <6 a
I & TEAl 2, A UH TEY &1 fEieE o S g
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v

127. e 3 s fow mu E- arfiremua (A) war TR
& (R) &
fiTwmaT (A) : TRI® & & sfaT o @

Tarama ws yg@ sifirersT &1

e (R) : TS OIS i &Y Te0T aret eafn
Y A TTS! TR HT ITavahAr wiedt £
I ST wEAl & s |, Prafafiea 0w
pfriyidy o SN

(a) (A) 3R (R) aFT &E tmaﬁzé
(R) 81 ﬁ
(b) (A) 3 (R) 2T & & (@

(R) 78T 21 '

(c) (A) HEl

Xf»ia:

(d) (A)
AT
o e §, v &, i a7 v
il 2 f& aw Twm favm & 3@ g =af® & fam
e @ uRfed & s e & & 0 fw A R
& o & S Al T gatae ff stevas @
oA &, it A a3 q I-AE anen & e
R H I THT @1 T (R)- T 5T & 21 g1 arel
FF F Fad W RN 2 onavaEa e 8, e §
it 3= fown &1 savgEm v =iE #1895 98
TSI AT &1 A T F
;i (A) @ &, T @ (R) e 8
128,700 faRTg @l & oA atg of wapieal 59
YeR | waftE & 7 7 31 arme 78 1 wad
g,maﬁmﬁmt.a&wm

(a) Imism (b) 39-faadm
(c) fatrammedt (d) favim
UGC NTA NET 2019 Shift-1 (3.12.2019) Set4

Ans. (b) : TERUTE faty @i & AR 3 31 Al
W SER W wdfug @ f& T IF 3w 8 @ 9Ed 2,
wafE 9 a1 7 8 G5 8, A 39 YER & el &
3u-fawda sfraferal war st 21
W A MR aEE @ 3evd iR favg wae R, fRg
Fmai wrn i @ A zge swsdysuiEa F w9 H W
Enid
129.F=feafige @ @ @9 @ ahae €, I o @

T o W A g v €, ey w6 wwm i

e TE & Wahd §—

(a) faudmmdf (b) fatrarmdt

(c) Fu-faadmmdf (d) Iufsm

UGC NTA NET 2019 Shift-1 (3.12.2019) Set-3

Ans. (¢) : 3U-fagfardf dehar U9 A B9 &, W1
UE W W A A A e, b 0 @ o
I TE A T ¢
T WA 0 IW & 0 g § 30 o 79 a@
T 8, f T 3o @ faem weE 6

130. “'mdt BEt I awoeft witem I=iof @
' exfaag orEl A et itar
g Pifra # & ?
(a) Fertremars (b) (R HeEt)

(c) T am
uGAWRANRIZA1S Shift 11 (2.12.2019) Set.2

' ol Bl 3 3w aden 36 @ aa s
,-% e 3l A @ 9w g @
o |

fekiamamr W@ FUA @ @ 1 I I E €1 58
UH @ A W U I gE e & W 3 s
ferremrr qoe el e @ &)1 St B Sl @
¥ uftefE @ w2 A wf orl A s when 3@ &
ot @ Fhwm oE & ofen el S w0 A @wm

fifem & e Fem 71 fatunas 29

131, FAfafEd W 9 @a-ur faeeu  ydE
Tadrars wdatea # wEftw § W 3@ aw d
Praifta g &, f5 adaram o gw@dys &

e wTaT § 3raar sTEtET S -
(a) T (b) uftam
(c) famm (d) qer

UGC NTA NET 2019 Shift-1(2.12.2019) Set-1
Ans. (a) : ¥OF 994 0 UF 3294 U3 o6 €1 UF fa6g
T 3 I oied aren GAeE| Vg ue & e %
T, TP WY T WEG-FUF FA q, TS I0H
TRl v w1 e A faig wE & afaR @
weEy & uftar Wt faemi @ g TEe @) 9 (6
arl A wYAr & afE f & s 9 g 2 i
o1, SR, WA M fAvedees & ER) 6§
Fregams & oFER, FeeTs, S AR P @
YER F @ 8| 99 F1 o B i’ iy s
Y @ dF awdt @ affE (e an
STATIEE) f ORI (T W wAEAd) & eren
g g1 T IR ufmmr F wfmfem wEd F enEw
T W TR F a9 ¥ I €4 §, fe O e,
w, %, oM, 30, gm wHow fEwm w3 oo
favarrs adaea @1 favmm @ @Efm @ S 9 9w A
fuffir & & f& wdara ol oo =1 =en a0 @
NYG] R T 21
132.@+ft TTur W §' ofW ‘o TR wE A §

- 4 g T Wl T @ e g ofm 3

ot ot € & W | T8 T HEeATaT §—

(a) fawda (b) faremsrE

(¢) Ffem (d) 3refsm

UGC NET 2019 Dt. 24.06.2019 (9.30AM-12.30PM)
Ans. (b) : BT T SHI T2 F1 fafm F0 W=
1. ®ft T W g
2. T9 TN HE A B
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haammqmmmmqmnﬂm
maaﬁxqﬂwmmﬁlmmaﬁmm

|Iﬁmﬁ‘rmmm§|

133. Tfe 7 arsw '\t U ulEd T8l &

(a) T Ufwa T A 2
(b) Fo g T @
(c) &1 1ft 2
( A U g

T ﬁm[mm ‘ot 99 ufge,
ﬂﬂ?"mﬁaﬁﬁﬁ’fﬂmm—

SONGS

om

T

Ame i fF g ifm @& 38§ R
2, Fits ww fag & weam | aifvs 59 @
T9 T & Gaa g 7 f Fona g, e i
ﬁﬁqﬂﬂﬁf%t{mmaawmmmmé
ity fag @ we & B of Gfye 99 € o=@ 21 3.

ﬂw:a]mﬁm%mmmém%

134, e aea 'Ho U <@ BT & @ wE wen
WY A FrefartEs 2w aret § 8 -
T BI?
(a) &1 g4 GRS
(b) Tft 39 = B @
(c) T© =@ gu-d ¢
(d) T© 3 =@ T @ &
UGC NTA NET/IRF Shift- 11, Set-02 June 2019
.r’hu (a) feu To 7 AT & AR W-“TT W @

a&‘mmﬂﬁwmmmﬁnﬁﬁmﬁ
mmﬁmmqﬂmnmm%—
(iy T 7a = & R
(ii) @eﬁ@ﬁmﬂu
(iil) F© 39 =A 7 & 2l
Gl

135. =& war i fadm 2= mm%mﬁ
w7 & e afv T § i 31}

(a) Ffsrefiea
(c) Fafauy %
UGC NT ET hift- 11, Set-08
A 4

June 2019
| & 32YY UIY [qud U O9H
S T gl fim @, al u fafd 6
| FharEd H 3y (Contradictory) Ha9 &
g1 9 -
it ST EEEr £ 1 (A)
3R
T© Iurmfa  guEEE 7@ 81 (0)

136. Among the following statements, two are
contradictory to each other.
Statement :
(1) All men are humans.
{2) Some men are human,
(3) Some men are not humans.
(4) No men are humans.

Frefefas 3 waT 1w gat & faandt €

ThaH:

(1) &t g9 o=a g

(2) F© P9 A &I

(3) T 55 UFE T

(4) F¢ 19 g9 T &)

IH T T TGT HE W IAGT WlArArerer

HTAT &

() (1) 3 (2) (b) (1) 3R (4)

(c) (1) ¥ (3) (d) (2) R (3)

UGC NTA NET/IRF Shift - 1. set-7 21 Dec 2018
Ans.(c) : UH &a9 foli ofh &t 9L 349 9| qReny
faafm & 2, 30 SO Ot F9A T 9T 8 WY
FuT ¥ fawew (a) 79 (o) # fam mn Fum wwew faod
Fuq 21 HifE A 7 A @1 v ¢ wh g afE faEe|
(a) T FLF T 3N @ faFe (c) T F2A T T @
T wER R BFe (o) @ FT Wl g Al fAEeu (a)
T @ Fm

BFE=(n) frE=c)

137. Among the following statements two are
contradictory to each other. Select the code
that represents them-
fau T et W I U g F TS TR
Frefm w11 o T H gh-
Statements/SRTA
1. All judges are lawyers

%
2. Some judgesare lawyers.
o aranfiy a@e g

=2
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J. Some judges are not lawyers.
T Eeinkerikd]
4. No judges are lawvers
Hﬁ'gmmﬂw @S A g
Code/ T2 :
(a) | FHR2 (b) 1 3R 3
(c) | 3 4 (d) 2 3M 4
UGC NTA NET/JRF Shift - 1, set-5 20 Dec 2018
Ans.(b) : TEH AT TH FA9 T @l 00 ¢ fan

-

UF FA F T T WG F g T @ W
F §WT & A &) wvAT fawe § faeed (a N
: ] Gl

ZF gEE F99 ¢ HilG a2 |

138.FteatEa w | TCEk

(i) fahi S Sl :
(i) o, s A a@

E @ Uit § g4 S|

[ U 999 & ¥ H NG &
FHe W W I AT

£z . .
(a) (i), (iil) AW (iv) (b) FaT (ii1)
(¢) (i), (ii) 3 (iii) (d) Fa4 (ii)

UGC NETURF Dec 2006
Ans: (c) 9¥TA &g41 0 9 [AEfdiEd $a49 ded
(wrEiE; &9 ) 3159 gil-
1. fas A o od @ 3w A dm
2. THel @ HS, °S T8 A

il

9 F w9 F 7 F@0 8
139. =t forg = =T o 2 S g T ad T

3¢ NET/JRF Dec 2008
I} IR g w wm
T T F fawg €

el TRaTaT grat §-

(b) TEA IAH

(c) T v wft I

(d) 7 T 3t A & 3w

UGC NET/MRF Dec 2012

Ans: (d) UF A QO 7 e gl @ 31 A @
HEE e o) HifF @d F g Fid oo =g F
fau d 7 At @ o @ el A fE e wdo=
i @S9 YR S0 uftam & A9 @ e S
A HFAT & AW A T 3EA @ A OAFA 2
142. T AfURU=T & Iqgvd 3N [T &t Iregraeit

afz Tl & R um @ vemae gEv @ g

?ﬁtﬁwﬁ#ﬁamﬁﬁumm

2

(a) FtraaTs

(¢) 39-faadm

(b faudm
(d) W
UGC NET/JRF Dec 2013

Ans: (a) 9 FUGUA & 3299 AN (U & YremEet

Tl yAm & @, T v gud & g a @, @

T g & de fadrie d4u d d ) o=

Fad 1. T FA IR &

F 2. ®E ff FW I A 2

wEl 2 & wu # fatra frar gem )

143. afg = ywrar, fa=eT &at 3R &0 vl Ueh |
§, o 37 3 = W W 9 wEar & O A
2A1 e € @ waRd, 39 21wl & dre
& TET H T FHe?

{a) ﬂ«ll’j_ll!iquﬂi (b) W
(c) 9-fandt (d) o=
UGC NET/RF June 2014

Wehdd WX T & Wehel &, WET O I
O 2 e e

(i) FB W= I
{iii}g"éﬂﬂngmwsﬁaqﬁﬁ

Ans: (c) @fe 21 s&El, faa & 3 &4 =
® 2 A I A A OFE A T OAEA 2 G F A e
T @ TEA, 3T T G F A e 5 I9-faid Ry
21

(iv) & 7= moreia T )
& :
(a) (i) 3T (ii) &1 (b) (iii) 3T (iv)
(c) (i) AR (iii) (d) (ii) (iv)
UGC NET/JRF Jun 2007

Ans: (b) ¥9TE w41 B ¥ fAfoi@d &a4 36 q1
T T & wEd T T § v -

1. @ ol wpE gomde @ €

2. T U AT T E

T faswed (b) =dt 3T g

144, v qQit¥meT @7 299 IQTMT Rl WE H{AT AT
IWEAT AT WO TSN BT § A U
ﬂﬁwmﬁﬁt
(a) T
(c) segE=l

(b) "feEm
(d) HIFHES

UGC NET/JRF Jun 2015
Ans: fh) Yfige aftarar-s GRS &1 32¥E 399
&1 TIY FAT T7 WO INE] WG gL FA o @ Al
wedi oftumn wnfes R w8
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145.3frwaT (A) : sfuenfies wmm @fe af
wrefter g g

@& (R) wnierie Toew uw

afr wafier yarg #

(a) I (A) 3R (R) ¥4 &, WG (R), (A) &1 T
T A8 )

(b) (A) FF &, T (R) 39 &
(c) (A) 375 &, W (R) T &)
(d) @Hl (A) 3T (R) &9 § FHT (R), (A) &

UGC NET/ZAIRF Jun 2015

Ans: (b) Tl FfA IWAF & 21 W FH W
fridt @z & & go Ff aredfees =8 @ 2
147.31f9@aa (A): SAHEN 930 & I9E 9

Y § qaigwlg &4 & Ta4 § Hag "8l G ¢

W (R): sdEn 3fg 3R gafEef 5@ & @9 @

TE SeE 211

frafefiga @ wdt It & wa= S

(a) (A) 3 (R) 1 & & 2 (R), (A) T Wl

A A8 2

(b) (A) B &, W (R) 394 g1

(c) (A) 3187 £, T (R) T &)

(d) (A)aﬁg{]mﬁﬁﬁqﬁ(m (A) &1 &t

UGC NET/JRF Dec 2015
Ans:(d)wmﬁﬁmamamﬁmﬁma
Tafaofs g9 1 T4 0 W T e g, a9t
TAEEA gfE R TEEig B & e # wEy aed
T 21 3w faa T sfieR (A) U w6 (R) S
TE & 3 R, A T T T o 2
148. =t sifuaas (A) 3R & (R) T faam Sifag
afr R Tw T W I & waw St
(A) T 3medt qui 4 2
(R) Fo =t i = &)
(a) (A) 3 (R) 2 T& § 3 (R), (A
& W A
(b) (A) §F 7, W (R) 36 &)

) % faw

(c) (A) 3 g, W(R)mél
(d) (A) afrr(R) i W@ § W (R),

“EIg AT TATAER &l € ol Tord
¥ A Profafiea wdaea/adaeat o @
et Prfyeetor ot B & 2rar fear o e §2
AehaTa:
(a) F© A U
(b) F© 3t urEn €
(c) & HFER =fts e 7 21
(d) T st ForEr €

UGC NET/JRF Dec 2015

Ans: (a) T2 7% a9 ‘TR W20 SRR A9 7 A e T

EICIE

1= =

‘TF"WWHT'TH?

aﬂmmuméﬁi@amm%.ﬁfﬁﬁ

(=T07) T8 T & T T 2

150 FTaATard dcharaal @l WUg, W 60
wefyfa e &, wwemar € -
(a) TF T (b) T U
(c) UF A9 7 (d) uF fFrepd
UGC NET/IRF Dec 2015

Ans: (a) T Al A @ W o 3o e
¥af3id ot € 9 uF ad Sed ¢ |

151, 310907 qitATEr 90 Wa9-90RE 0 ydidl &

for Prfée famar s &, o §:

(a) SFCETE (b) TEffET gty

(¢) FeTEH (d) Fro-fagg=

UGC NET/JRF Dec 2015

Ans: (b) TF 3wl oftamn G we-wae 3o
v & fou e 6o s @ = =ffda ofom
Fra 31 R T @ we A A adE F
waTSEl & fou fear e ¢

152. afe @y firwaw & ‘wft = i 3= €'
TER £ @ Cratafaa § @ few afuwas &
weu # fafie wo @ wd @9 = @ femar o
WehaT &7
atfirererT
(a) Fo UR T € &

(b) Fo d9R A 7 & &)
(c) ¥ i 9wl 7 @ d
(d) = = e 9] A6 & gl
UGC NET/ARF July 2016

NTA UGC First Paper Planner Volume-2

272

YCT

Scanned with CamScanner



Ans : (b) U T sfvsaa fF ‘oft 9r i Em 2 @t
e "M e 9 @ fefelaa e Biad @5 8-
i

W s w0 8

3w fm 30 weram @ Frefafas sfises & @dn
fAfem =9 @ @ 29 =1 =@ fE ST wEa @ 5:\)4
1. F© IR 7= 9@ & ) :

feafedi W wé @ & @ & g fwar =
T & “

153. Ass 'Dqﬁ\}:sﬂsminahle development is critrical
; 1ng ol human society . . -
@A) : T fAEm gHe 599 F S &
Ty #
Reason (R): Environmentally sound policies
do not harm the environment or
deplete the natural resources.
7 (R): vafawi sfe & i Hifs wafaom afi =6
UEAI & 79T NIl AT T A )
Choose the correct code :
TH T T TAT FL
Both (A) and (R) are correct and (R) is the
correct explanation of A .
{A)aﬁtga; ZHl W E AR (R), (A) T @
i dl

Both A and R are correct, but R is not the corr-
ect explanation of A .

(A) 3 (R) 21 7 &, @fF (R), (A) 1 T@
w74 21
A is true, but R is false
(A) T& @@ (R) TeW &
A is false, but R 15 true
(A) T/ @@ (R) 98 @

UGC NET/IRF 22 Jan 2017
Ans : (b) T faEm amias-anfds fowm & 9 sl
¢ formmi et 9 wear Wi & orER fawm @ am @
S @) WA U AME T & o weEqel @, A
THawid gt @ W A vdlaw @ el @ wad @
FA WIFAF WA F &R0 TE T 1 I FAT G
?gﬁﬁ%hﬁﬁém). T (A) F G =

|

154.  Given below are four statements. Among them
two are related in such a way that they can
both be true but they cannot hoth be false,
Select the code that indicates those two
statements :

el aw we= fau T 3 | S arow W 3w

(a)

(b)

(c)

(d)

Statement : /YA

(1) Honest people never suffer. dﬂ
(2) Almost all honest p et
T H - Head §|
(3) H dly sufTer.
g # F7 T g
and every honest person suffers.
YeIF $AAER =G FE e
Code: /e :
() (2) and (3)/ (2)3 (3)
(b) (1)and (2)/ (1) 3 (2)
(c) (1)and (3)/ (1) 3R (3)
(d) (1)and (4)/ (1) 3R (4)
UGC NETHIRF 5 Nov 2017

Ans : (a)
(2) T Tl SRR Al Y S )

(3) $9ER = AR @ T gen &) A g6 aeg 5
T | W € fF @ 21 7 6 A @ O o
& T

155. Assertion (A) :

Classroom communication 18
a transactional process.

HFRAT (A): TR TN U
ferafaferarl wfEn ¢
Reason (R) : A teacher does not operate

under the assumption that students’
are purposive.
wWh (R) : 31 f o 39 W= & offle @
78 F fF oE @ s deve #R E
Select the correct code for your answer :
310 IW & foe Tl e gt
(a) (A)is false, but (R} is true.
(A) e 2, AfE (R) 9@ &1
(b) Both (A) and (R) are true, and (R) is the
correct explanation ol (A)/ (A) T (R) ZMi
W §, T (R), (A) F1 9E == 8
(c) Both (A) and (R) are true, but (R) is not the
correct explanation af (A)/ (A) TH (R) L]
W €, A (R), (A) FT FE AR T )
(d) (A) is true but (R) is false./ (A) T& 8, #f
(R) T &1

rcsponses

UGC NET/AIRF 8B July 2018

Ans. (d) : ¥UFTT Fewm T UuE fEaaEfErd
i & AR wF & o soE B e Ad e )
TR GO U e sfman €1 fome aomo 5
3TA g0 @A #1 W TEm § % o 3 erfEad Gy
et @1 3 Fre fadrr #1 o9 § wees s foem
fafermgt, Sfei, wfafemn anfz F vam @ faaw 3 &1 Rwyor-
T ¥ famrs a1 o 91 uF 9 e 519 99 § 4N

T W U N9 WA w9 T a5 g

L 156. 'Every law is an evil, for every law is an
?N'E"& wiftrm § o6 & 2F1 w0 @ wad T infraction of liberty'. The above is:
%aﬁmq{fﬁuﬂnwgyawmw ' HEAA TH %, =ity WA
I ST wUAT @ I AR AT @ I § I
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An argument /7 T
An explanation of facts /f2di 3 e

A Justification of beliefs

3 1 3ffEe @

A propasition of facts /@21 &I FEITGAT

UGC NET/JRF Shift - 2, set-10 22 Dec 2018
Ans :(a) Y% FFA UH TG ¢, FE TAF w0
AT & IoHTA 2| U8 U aF 97 21 99 g g3
32vg fbg & &y  grafad g & o 39 WA &
FYA T 95 TP 21 7% 999 99 q1 36T
fere] T W1 F 3 A A & ATl

(a)
(b)
(c)

(d)

, b, ¢ and
y that both of
alse although they
.Welect the code that states

mnyh thhe 1
ropositions.
\i b, ¢ 3T d) ¥ | I Afumwe= 3w
wEfiE § fn 30 @ 2 U [ @it e

eﬂﬁﬁmwﬁmmﬁ?ﬁﬁmﬁl

3 g afusme = g o ol T W

=TI &)

A. All students are intelligent.

it feremeff gfgmm= &t €1

B. Some students are intellipent,

o faendf afgwm ga €

C. No studcnls are intelligent.

ferameff gfgmm =&
D. Some students are not intellipent.
Fo ferandt =R & 81

Options: &<

(a) Aand3RB (b) Band 3R C

(¢) Cand 3D (d) Band 3D

UGC NET/JRF Shift - 2, set-10 22 Dec 2018

Ans :(d) 99 @ HUAM fdh @9F | WX O U Y
WA T & THA, e W @ WA @, @ @ fawg W
Iu-falia wEe €1 3 & HiEaEl @1 g9 9 "E
Tz fa §-
(b) o faardi afgmm €@ €
(d) Fo faardl Ffamm =8 & &
158.

Among the following, there are two statements
which can't be true together, but can be false
together. Sclect the code that represents them,
o FAT TH WG A TE A,
faﬁ;t{a:m WA W AEA & T I E FE
& a4
1. All pncls are dreamers,
it Ffa @ @
2. No poets are dreamers.
Fr§ Ffa mogE =
3. Some pocts arc dreamers.
T9 Fa =e= @ )
4. Some pocts are nol dreamers.

To 4 @ ¢ i €

Code : 2 :
(a) (1) and (2)

(b) (1)and (4
(c) (2) and (4) (d) %ﬁngt
UGC NET/IRF Shlﬁ‘-‘\l. { - 2918
TH T19 89

Ans, (a) ; 99 T Td=ATH W
i W fagla @@

A8 q wEA

159.Given below is a statement followed by three
assumptions made from it. Which assumptions
are implicit in the context of the given
statement? Select the_correct answer from the
code given below Th

I J = w9 S §)1 Ry o sfieee
& wd B W e wree £ fw
Fe O | T I I

Statement : / fiTEHTT :

‘Smoking is injurious to health'— A warning
printed on the cigarette packets. / AU WA §
fere. e & - P & Sl R i aeE |
Assumptions : / AT=AAT

(1) People read pnnted matter on a cigaielte

packel /A fAME T3z W Aftm T &
(2) People make careful note of a warning.
I S B AP o E

(3) Non-smoking promotes health
YUY T A § @ @y g gl
Code :
(a) Only (1) (b) Only (1) and (2)
(c) Only (2) {d) Only (2) and (3)
UGC NET/RF Shift - 2, set-2 18 Dec- 2018

Ans. (¢) : ﬁmwmﬁmmﬁi"'{sﬂmmﬁsm
A 3 fariie & Gl W ofid A @ g,
Prs 1 78 W A ¢ B A T A e

g, 3 I W 3mE F 2

160. Among the following, there are two stalements
which can't be true together, but can be false
together. Select the code that represents them :

o 2wy fo T § 9 U gy m{r

T & " £, foheg & U Wig e & W
%1 3% Torefaa & aren & g
A
(a) All bats are mammals.

T gwmEE wEu §)
(b) Some bats are mammals.

T TRG WA E 1
{c) Some bats are not mammals.

o TR T A6 £
(d) No bats are mammals.

AR AN A £
& :

(a) (a) 2 (b) (b) (a) 31T (d)
(¢) (a) ¥R (c) (d) (b) 3R (c)
UGC NET/JRF Shift - 8, set-1 21 Dec- 2018
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Ans. (d) : 57 B T a9 OF 94 T A4 8w,

fof s @ | €, @ 39 wER faulia (contrary) F@

o 21 o8 M el F A (b) FD ANRE FAY @

mm(c}@mm#ﬁﬁ,ﬁwﬁﬁ

2 fag @ = Ty em )

161. Among the following statements, two are
contradictory to each other. Select the code
that represents them.

&UAT | g HUF TH-gal h
Statements : / ThE=
(a) All surgeons are docigrs

¢ SUrgeons are not doctors.

(
d) No surgeons are doctors.
T gt fafdmas 78 £
Code: /e :
(a) (a) and (b) (b) (a) and (d)
(c} (b)and (d) (d) (b) and (c)
UGC NET/JRF Shift- 2, set-6 20 Dec- 2018
Ans, (¢) & F4T UH-gH & [@UH 7@ F¢ 99 & 99 9
-5 ¥ fawim 3 v ) R T w5 () F 3o
v fufes fofemrs & aft @ @ @99 (4) & =8
v s ffses =& € == 3 of = wem
g1 3 I & HA R e an
162.Two prepositions are contradictory when,
=g ey et gt § wa—
{a) Truth of one proposition implies falsity of the
other and vice versa.
TF A A Al @ foe g @ el
faemm: ﬁ?ﬂ 'b:TFIT él
(b) Truth of one proposition supposes the falsity
of the other and vice versa.
TF W §E R S e & e 3
2 3 faem: T e g
(c) Truth of one propesition doesn't guarantee the
falsity of the other./0F 9=Gd1 & W9 I #i
faerm & dt A gar
(d) Truth of one proposition rejects the falsity of
the other and vice versa.
UF WAl & H gE @) (A & & ¢
3R fommm: T a #
UGC NET/JRF Shift - 2, set-4 19 Dec 2018
Ans. (a) : TG o famdt 26 € S U AR &

freforfie & @ U0 < wo=t & vgenT
T wEr i § R U e
T § U faw:

U
@t

astics are synthetic.

O ifye= 21
3% Some plastics are not synthetic.
o wAfteT wiver 78 ¢
(4) No plastics are synthetic.
T s Hiver T g
Code :
(a) (1)and (2) 7 (1) 3R (2)
(b) (1)and (3)/ (1) 3 (3)
(c) (1)and (4) / (1) 3R (4)
(d) (2) and (4) 7 (2) 3R (4)
UGC NET/JRF Shift - 2, set-4 19 Dec 2018

Ans. (a) : STHTV TEA § IUET & OeT 8 O I
& 7 @ 7 ¢ A s sae @ fAem s T e
(1) o wnfies dfvee 8|
(2) Fo wfes dfvas 81
W F9F (1) 30 (2) T

g & TR, Frmemes 36
ATMTHATHS At o HodicdT
3R fafdEietor (Evaluating

and distinguishing deductive
and inductive reasoning)

ATTATHS (Inductive)

164,

Which of the following statements correctly
apply to induclive arguments?/3TRATHSG
Aeharat W faefaiad § @ @9 9 w99 g8
i A Ty w2

1. They are ncither conclusively valid nor
invalid/@ = ot 3ifam ® @ 4 § st T &
s §

2. Adding new premises makes no difference to
the argument/ST ATETICATST @t Eoc k|
TehTTaRT X 1§ W E g §I

3. Adding new premises may strengthen/weaken
the argument/AT MU A A

wg gat #i faen @ @ S fEemm: T g 21 FdaTaa ReTR/qA o Wt £
W e A A % W & El FR A€ ©F AW | 4. Conclusion follows from premises with
I, 7 I AR Fed &1 absolute necessity/TUs  aMEvOEE  arer
163. Among the following identily two statements Wﬁmm? ; )
which are in such a relation that the truth of oosc the correct answer from the options
one implies the truth of the other, but not given helow/Het fRu o Rrareat & I
conversely. & AT B
275 YCT
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(a) 1and 4 onlyﬁﬁ?ﬁ 1 3T 4
(b) 1 and 3 only/&4ad 1 &t 3
(c) 23nd4onlyf‘iﬁ'ﬂ'a 2 3T 4
(d) 1 and 2 {Jnly-’:'zh_dﬁ )
NTA UGC NETHRF June 2021(04-01-2022 Shift-11)
Ans. (b) : HFTFRES TharEdl g o $49 81
1.3 A A F R A E A& e E

165. This barrel contains 1000 apples. Ihe

sclected at random “crc I‘nun
Therefore probably all l'l]'lt‘
fied in the

(0) Inductive/HTTHATEHE

(b) Deductive/f AT

(c) Hypothetical Syﬂ{lgiﬁma’%ﬁlﬁfﬁ gdiey

{(d) Modus Ponens/faumas ﬁﬂ

NTA UGC NETHRF June 2021(04-12-2021 Shifi-11)

Ans. (a) : anlmmalmmagﬁmﬁm
traqcs@trru;‘W| gufa TrEa: w100 9 9 gu 1
I < FOA H ST A & A g R
maﬁm@mmmmwmm
wff @ #f Wewil & e # fasd fEwen s
ST g SR 2

166. Given below are twe statements

et <1 wu= o ww §:

Statement [: In the Nyvaya system, inference is

made from the particular (o the particular
through the Universal.

wHUT | ; A g § e (gheda) &
e & ﬁmﬂ # fgta = srgAT foRaT ST &1
Statement I1; In the Nyaya system, inference is
made from the Universal to the Universal
through the particular.

w11 : =T % fage & wnaw § "
rgh’ugim'&mrgﬁaﬁmmmmm
HATAr gl

In light of the above statements, choose the most
appropriate answer from the options given below
wHUAT & =E€r

, e few g, frmeat

o 9 At I w1 "= St

(a) Both Statement 1 and Statement II are
correct/FAT | 3R 1] &1 W&l

(b) Both Statement | and_Statement 11 are
incorrect/®@T [ R 11 §Hi e &

(¢) Statement 1 is correct but Statement II is
incorrecv®eA [ Al 8, g F4 11 7T €

(d) Statement [ is ml:nrn:ct but Statement 11 is
correct/ A | T &, fo F44 11 981 @

NTA UGC NET/RF June 2021(01-12-2021 Shift-1)

Ans. (¢) : 9/ T9A § WERG & AMAW | fag™ | fagn|
1 HAA R S @1 @@ FO wA @ I
3T ¢ 3W: [ (c) T T

is labelled

167. Given below are two st
as Assertion (A)_and the

sertion/ATTHTT  (A) If there is a
contestation between Shruti and Smriti, Shruti
prevails over Smritirafg ‘gfe’ o ‘wfe’ &
e wferemt @4 &, @ i, gl @ arfr
wret it §)

Reason/@®% (R):  Shruti represents  the
philosophical aspect of the Vedas and

Upanishads, while Smriti is an aggicaliun u[ihe
p!uluaophn.al ideas/ gfer’ IufeEr &
wates ‘wgfa’

mﬁm@ﬁm

In the light of the above statements, choose the
most appropriate answer from the options
given below ;

U HAA & ErS W it fawent O
¥ atfie I9gwh I TH—
(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) HX (R) BHI
T & 3 (R), (A) F1 T == 2
(b) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A)(A) (R)
I W € 3R (R), (A) F W e T A
(¢) (A)1s correct but (R) is not correct/(A) Eecil %
T (R) W &1
(d) (A)is not correct but (R) is correct/(A) Ted 2
T (R) T &1
UGC NTA NET JRF Junc 2020 (24 Sept.) Shift-11
Ans. (a) : A 3T R &M T € 3K R, A %1 T8 =
&1 A i mqﬁ#ﬂamﬁﬁﬁ ﬁrgﬁr‘
TfT & s s & 8 i gt &6 o sefe

F At sl A oawid f, S Cw et
faamil &1 vF 3wEm # )
168. If January 1, 2007 was Monday then January

1, 2008 is a—-

gfe 1 sadt 2007 = |AwAR ar, 97 1 Jad

2008 @Y WETE T Si-41 & ugar 82

(a) Sunday/fFaR {b) Maonday/SMHaR

(c) Tuesday/ TR (d) Wednesday/gvar

UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
Ans, (¢) : 37Tl 3 2008 T T4 2 T | S 29
fmfrqqs?—r% afg uF fag fGm Sen smom sm: o
Fatt 2008 F1 AR 21

169. Which sentence cannot fit into the AEIO
framework?

w-amea U § 3 30 en W Iuge S @
WehaT §
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(a) No salt has iodine/fHel 75% #§ IJ@AEH
i &
(b) The salt on the table has iodine/fs W @
9 ¥ ST
(c) All salt has iodine/a¥t 7= & 3mdrd &
(d) Some salt has iodine/&s 70 # SEIEH 21
UGC NTA NET JRF June 2020 (12 Nov.) Shift-1
Ans. (b) : 'UF W T 79T T AAER T a99 U 3 30
30 =9 # 3Uge 7 & TE 2
170. [Identify the argument which involv
from the known to IIu- unknow

maﬂ;aﬁm

A qF

(a) l"kducu\

tive rj,umenlf ITATF Hﬂ;
ive argument / AT, T
a} Analogical argument / HIGTaIE a5
6 UGC NET/ARF Shift - 2, set-4 19 Dec 2018
Ans, (¢) : IMTWATAEF Ach—3d a9y A fomwr 43
fafore @ o’ @ AR W @ F W @ W o
AW @ oww wam # oo @) §9 fafo § famrd &
v fafy=1 32 wqd e o € am R 3 &
mrery  fawrar @ fogr @ sfoures faan s @
171.

Reasoning from a specific case to a general
conclusion is known as :

fmdt fafyre amer 9w ferd @ & T

@l Frefeftad § @ aar @37 €t Al §?

() Scientilic logie / T 7

(b) Inductive logic / ST W

(¢) Deductive lagic / A=

(d) Theoretical logic / fzifas &

UGC NET/IRF Shift - 2, set-4 19 Dec 2018

Ans. (b) : [&0 fafere ome 4 am frsd &% & 7%
FT IS a &) G & @ 21 A
T anvRer favm 29 € o fF e F wm @ € i
€ 7 It awatas wea o #6 #

172. Which one among the following is a

resupposition in inductive reasoning?
Profrias & & et TS T ¥ -
wfeaa 27
(a) Uniformity of nature/SHfd I TEyar
(b) Law of identity/Sdaia =1 frag
(c) Unchangeability in nature
wgfa 1
(d) Harmony in nature/S&f o dHT&T
LIGC NET/ARF 8 July 2018
Ans. (a) : IR T (Inductive Reasoning) @@
ah & frdl wpa Rl fadm gz & amm W e
= fagia & SfAwiEd S &) e A
‘wfd @ wEwar qd feqd 21 3w a6 @ wdE
frmn 7 o U SEewmd @ fEE W owwr 2)

Ja-uw s § wF F9 @ e e 22 m@mn
R F4 i Fo gfed e g2 ™ 3 3
WA W ATh 5H =g W ug
fa @ 22 o €
173. 3T deh

WPAGH TT AT 67
(a) TFER & (b) W F G
(d) wFf T sr@eEm

‘ I\ E % UGC NET/RF Jun 2015

NasAb) ITTHAS 06 Yhid &1 GHEYA 9 HMIRA
21 IF WEHla &1 HETHAl WHfA &1 Ir@vedr adqr SEw #@

UHaT T 3N 8 6 2

174afe &0 fay & a o qeal &t =8 A=t Ued
HE I FT w A B | few g S
aeh-71f¥R QT 3T w7
(a) FrmeemoTs
(¢) AR faam g

(b) SEIAHS
(d) HATHATHS
UGC NETAIRF Jun 2015

Ans: (d) IMTHATHR 6 (Inductive Argument) -
ah @ o sl O e Sepwil & §m a@ 9 Sga
e was @ae fffT fea 9 €, sThEwE o

Fgam 21 7 s @ 3 aga a2

175. ANTHATHS eh [ehd g SAA BT &7
(a) TEwiioE 4 fafors
(b) Tafere ¥ wdwifys
(c) it & AT
(d) fafere @1 fafore
UGC NTA NET/JRF Shift- 11, Set-06 June 2019

Ans : (b) : 3ATHE o G002 ¥ IA~ Biad
ey &1 S sEfg g 21 ek @ o wfear
U W & WA A &1 Siged #ius Ans &4
fofifa fran T @ ST e ST 2

176. W W UIT AT ATE! qeAl & A 0 AN &g
FF-TT 7 HEraF gm?

(a) AT (b) SATHATESR
(c) e (d) BEYEHS
UGC NTA NET/JRF Shift- 1L, Sel-10 June 2019

Ans. (b) : TOR & U@ S @t @24l & a7 H e
B AR @ weraE o 1w @ o e §
wF @ HUE FH A F9E F W w1 fafrem

frsrd o wdan s &, Frmeers @ @ &)

177. Inductive argummt proceeds from

AT ek i 30T 39Q BT -

(a) Particulars to particularsf&vs o favm

(b) Particulars to universals/ a9 T =9H

{c) umversals to Particulars@9H A fawm

(d) Universals to universals/@9& q oIE

UGC NTA NET/ARF Shift - 1, set-7 21 Dec 2018

AnsJb) : fave ¥ =9s @ faus @ Am 3 AR
IE T F ATHEE 76 Fe I ol I I |
fram = ofr, fafee & s = R @ g 7 e A

3T anfE =t & off s 5T 2
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178. The reasoning which would be helpful in
seeking new knowledge of facts about the
world is _ ) :
fay & dehr o et @ T 7T W wme o
frofafgs o & Fi=-m 98 Tgas gm?

(a) Demonstrative/SaI-9t®
(b) Deductive/RmHATmH
(¢) Inductive/ATTHATHS

(d) Speculative/3 AT
UGC NTANE |.-"|Rl' Shilt - I 1{'(-7 Zl

(b) FBea & v 3 T4
(d) vF &
UGC NET/JRF Dec 2009
Ans: (3) ITHATHE  difgEm oM@ @ WS
[HETT & a9 W 9% faw 9% @A @ & e
ufifeafadi # wgia &1 saaen GOm =9 @ g ¢ i
S & YIR #1 o 0 uE G| SR | @ o
T w1 & e d 2
180. UHT Wk Tauw gw Tt fafye @us @ wow
Th Ua WA SuT & W1 W w5 §, o
FEAE :
(a) frmfrs 7
(c) I T

(a‘) ﬁfaﬁqmw
(c) S &1 uEar

(b) M 76
(d) TR 76
UGC NET/JRF Dec 2010
Ans: (b) “UH 7 foEd gn fEd fafe #wm ¥ e
FF UF AN F49 F WY TW F4 8 &
HTHAF 7F T B
181, 3T qanvTd, gfamaraa foad war
(a) P @1 owde o wOw ST S W
T = 2
(b) Fremd =1 amds 98w, fig Iws s
FE T AT A 2
(c) frd 1 1 @ T T #, WA IWFE
WA T T NI FAW 2|
(d) frewd @1 mmdm F €, feq Tow e
FAA T T T T
UGC NET/JRF Dec 2011
Ans: (d) JHATHF THITH H g NG & FER W
SN F AR § g9 TW W9 A §) 7 e @
wda F@ €, e (9% e a1 s T F
3 s 6 Fea 2

182. ﬁnﬁiﬂaﬂmﬁﬁﬂaﬁwﬁm

& Ifaw =0 | ‘v’ T@v e o

e B
wE
(a) 2, 3 34 (b) 133
(c) 2 3T 4 (d) 1 32
UGC NETARF June 2012
Ans: (c) 3RS Giveai—gfd-4o  ANTHATES

gfe & worm @ & T gfw @ 3fm ww A W oA
oA % WEA 21 9% S # Fu9 e gn FitE
ammmé dh Wed faferszar § WET &1 3K 3
g 2l
ama: faFe (c) anfte 3w &y
183. MTATHE 7 Frafaiad ¥ ¥ fme qaigam

F24

(n) WFE T=WE H UEA

(b) WFE T ¥ T e

(c) WFE =T J TEETa

(d) 99 @vE | Higs

UGC NET/ARF June 2013

Ans: (¢) 3TAREE @ (Inductive reasoning) - ¥9 T+
i fomo @ fafore & o 91 s @ wE @ @ &
3R yam &0 9 21 3W ad § fwndf & fafir
TaEw weA fEe o § A R 3R & wem @ fam
A @ aa fog @1 swE e oam 2w R
THAETIE € A9 B dedl & fAav e 3vant g1

m TR (Deductive) “

184. Pick the incorrect statement
T &Y &I W
(@) Truth’ and Falsewood’ may be predicated of
propositions but never of arguments/' &’ 37X

‘s’ dda & favm @ W € e,
& @

[n the case of deductive argument, the
technical terms ‘correct’ and ‘incorrect’ are
used AT W & T AW 3R
e’ AT GGl @ Wan e 2l

Inductive arguments are neither valid nor
invalid but evaluated as better or worse/
TR W T @A EW € 3 A & 3@
A dE 3 95 F w9 7 B 3w f

(b)

(c)
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B.

C.

(d) The conclusion of a deductive argument
anaifisr A FEam g1
quia: @2 3R W FeR F@ R g wAeE d
‘e’ P A @1 affi 3 & Faq 3fem
185. The middle Walod to the major term
ln that of the consequent effect. It is
Taa gy ot &1 g ot gdug @wnor w |
(b) Sel u\alAnumanafETﬂﬂﬂalﬂﬂﬁ
NTA UGC NET/JRF June 2021(24-12-2021 Shift-11)
oot e 7 e € T qdan e S S 8
186. Which of the following statements correctly
invalid.
o Adding new premises improves the validity
Choose the correct answer from the options
A, TR 7 A vgar e g §2

follows from its premises necessarily/
EPT .
NTA UGC NETHRF June 2021(26-12-2021 Shift-1)
Ans. (c) : frAaE 7 & Tod |, & 3EE @A
Frmmees w6 uw fafie feed & o & ﬁnz I
W F wimfE w3 A e a‘ﬁ@
ECuE "mﬁ tqszr S §|
{Sadl afis |t and is antecedent to it. We
1 the Hnn\lledge of the antecedent
n“n as
T, VA W 3WS HNW & ®U W wEg § o

IT AR WATd 7 U &1 30 Fed &

(a) Purvavat Anumnna)‘qﬁﬂ?{ CEUIC]

(c) Samanyatod _ _ _'a/STEAl ZE

(d) Pardrtha Anumana/9Td 31

Ans.(c]:ﬁﬂWHSﬁWﬁiWﬂW?ﬁ(
e qEE i 8 g Wil @ & §W A 3
3G~ A A FI SEH T HIAA e el §
EL

apply to deductive arguments?

A. Deductive arguments are cither valid or
There must be a necessary relation
between the premises and the conclusion.
False premises may lead to a true
conclusion

given below :

W & waw § foefatas W @
aﬁw—ﬁmnﬁrﬁ?

B. MUW 9190 A9l (4wrd & o A@vas

C. = IuR e WE W W e § gun

(c) A,Cand D unly@mr A, C3RD
(d) B, C and D only/&@d B, C 3D

Ans. (b) : IR 7 F
i)

e 7

ick the incorrect statement

T HAT T TG HIfAw,

(a) Truth and falschood may be predicted of
propositions but never of arguments /A
I Th-aad & ¥ 8 A § 9t ad
& |

In the case of a deductive argument, the
technical terms ‘correct’ and ‘incorrecl’ are
usedfrTIAEE A% & umel § aEal 0%
Inductive arguments are neither valid nor
invalid  but  evaluated as better or
worse/3TTHF A 7 a9 9 a9 & 31iq
FEE A1 A o w9 qedite g ¢

(d) The conclusion of a deduclive argument
follows from its premises necessarily

T 7

(b)

(c)

;@ T 3MEvEE B9 W A
IR F O T B
NTA UGC NET/JRF June 2021(24-12-2021 Shift-T)
Ans. (b) : “FTTTTE 7 & AT ¥ aEE 9% WEl 3N
e W @ &1 3 &2 e 2
188. Which of the following is correct about the
sentence. "Some men are nol married"?

"Fo gEw faeiia T R § 3@ aem &
Hay # Frefeafas § @ o w9t 72
(a) The subject is distributed 3277 faaf &
(b) The predicate is distributed/ fava famfta #
(c) Both subject and predicate are distributed/
i@ 21 et &
(d) Ncll.hc.r buhjl..l..l nor predicate is distributed/
FeTa ¥R e EWi faafa 4 ¢
UGC NTA NET JRF June 2020 (12 Nov.) Shift-11
Ans. (b) : ﬁmﬁmaﬁmﬁéﬁaﬁﬁu
forft &1 &1 ‘Fo [eW faafer @ €9 § sfvend
TENEE FEaE 3| 3m: Fa favg faafa 21

189,

Deduction proceeds from

W Bl & .
(a) Particular to universal/fa¥| ¥ T 3 3R
(b} Universal to particulnrfﬂﬁ‘ﬁq # faim 3 3R

T E (c) Particular to particular/fa¥m | favm &1 #R
D. TAd MU aed | Wel [Awhd faaer (d) Universal to universal/®TE+0 ¥ HE9H &7 3R
T 'E' UGC NTA NET JRF June 2020 (29 Sept.) Shil:l-l
:ﬁaﬁqwﬁﬁ[ﬁﬁpﬁm;{}f: Ans. (b) : [T St wgfa el ¢ | | faem

(8) A, B and C only/%ad A, B 3l C
(b) A, B and D only/&as A, B 3D

F 3R famo & fama fafg @ aed ame @ fafee
Foa1 A fag @ fafire e 7 3 == s 2
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“afy et gf, A gET wuTE g smem gan

WO @ WA o aet gg)" ag few yen @

T §7

(a) FTAIAE g (b) AFTHAES dETE

(c) SWHAINS geary@  (d) I dearary
UGC NTA NET 2019 Shift-1 (6.12.2019) Sct-9

193, 2 it QUITeRt T TGS
glam: 4 x5 meq
g fohm Y&t &
{a) AYMHATHE
(c)

UG(M{, N 9 Shift-11 (2.12.2019) Set-2

Ans. (a) : "3 a9 gO7, A7 &1 ANNE @ A gE
o @ T o 9w g€ W oA § e
e fEE 2

afz &g A TR 9 fR oo A ot 3fe @, A
TF T A S 2
fmmes 7 ®

| ded o wd 7

(2) 3MR-aF R fr=d & weg =aE aren |9y
T #

(b) 3MuR-arg 3R freed & 9o TAE aen g9
i afardm @1 d@=a &

(¢) IMR-arg 3R frepd & o TAe aren @
st sfETd a7 Ty 2

(d) MR- 3R frad & omy FaE aren dEy
T & fAufto @ qer @

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8

Ans. (b) : AT ddh-aF 2 o3 vl o ww @

s T W F9E § 9mR W FBfam fred

T W I g, P a6 a8 g T oA

FE1 9@ & e a6 & 3T [BU T WER sy

%1 fspd & @ s ud @ifds @9y g sAfEd

Eﬁ_ﬂTﬁlEﬁTﬂﬂ%ﬁT{ﬁﬂﬁﬁaﬁMWﬁTﬁﬁﬁ

CARAE B

YR T W A v 2
7Y U A 2
frepd am@g- s i AvER E)

192. Fr=faftaa ¥ 7 @ Fomaraa sgae & am

& &7

(a) 9iEdA (b) Sfaad=

(c) =ArHET (d) Sfiar

UGC NTA NET 2019 Shift-1 (5.12.2019) Set-7

Ans. (c) : Ua, Noarm oa Sekare e
AR F1 AW 2, FAE AaEE e e &
a1 T # )
a1 faeifsa us favm s @ oAl e F
ata ¢, e @ = F R W Amn Fee
frafmen ST €1 3R] A AEAEE @ W NEN S
fan 2~ “ar wwerd i 32 99 wE o9 & aR 5 30
7 3R i 9 2 @ e, FiE 99 8 @

hey

RS 31 A e 2§ e
xa—”DH@T2HﬁW3Iﬂ3Hﬁi
o & TR
e o § 9@ & 9md ved fagid @ s @
3t fafm R & A F W 3w e & w3
= 43§ fiwqo 73 wmrg | fafre @ e eomm @
i1 faly & s3I &)
FreTs @ o | frefalad 8-
| A st 1 s

2. A9l & T

3. TEEO R e

194, Toell 91 TR gof SEAR & OEET 6
BT AreT £1 37 3 x 4 x 5 (=60), 6 TAT WIS §I

Tan fFE war @ ad fafga §7
ORGUEIG: EAGET (h) FMHHES A%
(c) ¥afas mh (d) ATTEAHE T

UGC NTA NET 2019 Shifi-1(2.12.2019) Set-1

Ans. (a) @ fmﬁiﬂ#m@immmma
AT TR B0 AW IxdxS = (60), 6 T W &1 FEH
S, e (AT A g

T o foad el om @1 e S 9 8, e
fafim war & e 4wt 39 e @) g @ 9 g,
Frrmrens & e 21 frmars @6 4 @l g
Ft T A | AGEN ISRH R IHET e
fem = 21 39 7% ° famw fafe oo @ fafore
AL HTE B 2

195. WEl @IS & 9a Hifae-
= (Fegfaea) wedh @ oman otan § foh-
. Fred amam ff ffea fadt off @ @ s &
TaT A FA 2
1. Fred sfm =9 9 smryamant g qe @ 8
1. afe fred s/ @ & SR ar o § ey

71 T
V. o amysmR & g e, 4 el T
&
WIE
(a) 1 311 (b) 1 3
(¢) 11 3 111 (d) IwdF ot
UGC NET/ARF Dec 2012

Ans: (a) e e @ & fm s 0 ww @
s 0 W @Al o e W R fafae fased
R TEE W # A e & s d Ffe R o
a5 FuE & A A E § e S 5

H R FR T8 & £
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196. A deductive argumenl is invalid if :
T wd SIWHTIUTE § ale —
(a) Its premises and conclusions are all true.
TF IR G ud Fed wff T e
(b) Its premises and conclusions are all false.
3G WA a3 U4 e mff ea @)
(c) Its premises are all true but its conclusion is
ralscfm?ﬁmﬂmamaﬁamﬂ
a1 s e A

(d) Tis premises are all false but its conclugioq 1
true. / THE BH 3R UEE|

197. The argument which claims that its conclusion

is supported by its premises conclusively is :

g I & & TR gEa

Truriaes ®9 # 3 AR Gt g gaidd §;

AT §—

(a) Analogical argument/TATATIG T

(b) Inductive argument/ 3TTHAE, 7%

(c) Demonstrative argumcnlx!ﬁm GE7

(d) Deductive argunlcnlifﬂ"iﬂ?ﬂ?ﬂﬂi Th

UGC NET/AIRF Shift - 2, set-4 19 Dec 2018

Ans. (d) : Prmrareres ad-amm § favm faeed
frarer @ s @1 e o Fed §1 P
IR H smRErEl #1 w9 o o g sl P
e sma # fof @ 2 3R SR
INTET § HE = T8 A A 2
198.

When the conclusion of an argument follows
from its premises necessarly, the agrument is

called /=@ =1d Frend et amum areg & @b
| srfrarda: freear §, @ a8 ST g

(a) Circular argument /TR TF

(b} Analogical agrument /FGYIAE T

(c) Inductive agrument /ATTH-THS 7%

(d) Deductive argument /A @

UGC NET/JRF Shift - 2, set-10 22 Dec 2018
Am:(d}ﬁﬁﬁﬁﬂffwﬁmmiﬁé’ﬁ
Afarda: fem &, @ 27 froeme 7% FEam @)
frmerers adve & sfoes wwg &) et @
e &l e T AR e & @ A
foran wmar @ 3 frerd arfrarda: smar et § i
e &)

199.

"The relation that exists between Premises and
Conclusion is that of logical necessity" - is the
case with which of the following arguments?

' amurare 3w fred & W
Alfther JTAYTEHAT E—TE ATHAT
W forg v W grm £7 )&

(a) Inductive /
(c) g—.}\ hENEIED
A ical / HIGTAIHS
UGC NET/JRF Shift - 2, set-6 20 Dec- 2018

(b) Dedypcti
Ans. (b) : WNREE HT fed & W faam wae
AT FATEET € T¢ AN TS o & S
s & ‘g § Cfaew feed faee & osfem @
e o e &1 TR o 6 aTemaErEEl 5
o s @ s fred sfveda: s @
fmfir € & afit 98 anurEr @ wfus =9F & @
HaEA 2 |
200. Uk FATHToE ek A giAT § afe
() T9F I AT T T frewd o €
(b) IHEH MR AT IEA W] e w E
(c) THF 3R a3 fred it oy €
(d) 8% IR 9 AR e ol e §)
UGC NET/ARF Jun 2015
Ans: (a) s 7% v wft @ owEm € W9
T o 1 WK a T 8 T e e
B U AU H HOS FW AW & o e 9,
fht Fifgm el ® wdamn, e 7 e 21
T @ &1 U IS fAieiEd g-
1. T wofi Torsha @
2. IR us wofi €1
¥ IE FUE 1 ST S W 98 F@ S a9 8
fE 9§ goorefia &)
201, SH He H TGS RwQ, T G INUR-arat
arer FreaTTE T % WHT o W@ 8
(a) UF TE NYR-ar, UF Ted INun-aEy Hi1
U e frswd aren @, Av @ gE 2
g e HYR-aEE A UF Ted ey e
fih 99 & FFar 21
T 7 frepd aren aF 39 & g 2
ferd a9 & w3 21
UGC NET/HRF July 2016
Ans : (b) e 7% = @ 3 fom W § o @
T § s 39 9 T4 5 o frd fafvem fased
W GET W@ o 3 e o6 de S 2
e o & 98 Aa @ 6 4G YR a99 99 @
il Fesed off 7/ &M 59 R ForeeT T & TR 6
3 WA MR g 3 O Tem Fread g @ a9 @

(b)

(c)

(d)

oA 2, wE H A 2
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202. Given below are some characteristics of rea-
soning. Select the code that states a chara-
cteristic which is not of deductive reasoning : s

W& 3 o favwand & w &) it
A 3T F2 & 9GT R A RS ah @
Farvraen =& &emmaT 1
(a) The conclusion must be based on abservation
and experiment.

fremd Yoot aa s W st g A
The conclusion should be suppnrtciﬁ h)\[l)
premise/premises.

P sy aEa-aEl a|

The conclusion
prcmlsd refis

(b)

from thc

(c)

}'
a7 e e
ay be valid or invalid .
1 T 2
UGC NETAIRF 22 Jan 2017

(d) The drgunmignt
B
%ﬂ(u) o 3 A fEar
Tao’ Fed Freren 41 WA 1 P
FEd ¢ e 7 6 a1 one e e
mélaﬁtﬁﬁﬁﬁmﬁaﬁﬁ:mﬁhﬁﬂ‘éﬁr%
HR a7 e § Hfuw s Ad @ g 21
fommeTs @ afEE v 9w AR sy & s
S g1 FE ot famAmTs adaeE 39 gug 99 @ wEa
T 9 IREE T 8 iR Fend & o Pagers arg
W AT @
203. A deductive ilrgumenl is invalid il :
Ueh TS weh TWTHTT § afy :
(a) Its premises are all true but its conclusion is
false./30% T YR a7 el & W T0H
frend e @1
(b) lis perISLS and conelusion are all true.
THE MR a3 fend mf we €
(c) ls premises and conclusion are all false,
THF AR A o e wf e &
(d) lts perleS are all false but its conclusion is

true. /39 T SR 999 TET € 90T SHE
fred w1 &1

UGC NET/RF 5 Nov 2017
Ans : (a) O AT e H AT & &I Gel g
9iigu) afg Fuq Faiq HG 99 WEl ¢ A1 IHF Ry
ot ZH & aFET 8 A AR A W d e femd
I0E IEY (dfq Th) Th & A 7 s wen
ST |
gty b e @ § gd v fagle @ ame
Y A T 30 99 09 7 gwfaq fma S g1 e
T AeA & NN W AT A & e g 2l
204. T 21 g =l 7% &1
AyEm I ER gy e g &
TR 9 gAA §1 AU 39w ot fafe e
& g d & 9d & get ot e £

(a) s
(c) HZYIYAH

Tferran

] %eﬁaﬁﬁmﬂmtﬁaﬁﬁ

stfrardar & g 7

(a) TS (b) FmaEE

(c) FreeFmE (d) WEYIEE

UGC NTA NET/JRF Shift- 1, Set-01 June 2019
Ans ¢ (b) fmATEE @ifds gftal 9 smar @’ 3R
frerdf % a5 T g € a8 mfes sfardm @ @
auaﬁs%ﬁn#mnwmaﬁmmmma
R W Rl By el @ oda s @, @@
fermeTeTs aF #8d g1
206, ‘Tt =ZmemdtyT o & 9% qeh---3 R B

(a) T fam (b) @ fady

(c) fafere favm (d) fafee sy

UGC NTA NET/ARF Shift- 1, Set-01 June 2019
Ans : (a) T =anfy e € 9' 9 AT faug
F1 IEE & | WO aeg wEy aa ¢ fras fava
i IqAvg & I A, FANE IR wfae @ wafam wh
TRl & wEy ¥ F@ FW 9 ¢ dH-mh wE
wureliel €1 TS | 47 g a9 ¢ | 3 wEn ol
Wi a5l W ¥ A F R e @ s mmma
AT A 8 OF A R UE W A UF o9 §
fou w1 @ afew @t = @ @ W # fag
T T 8
207. d@F dch, FAAW 3@ AW W @ (et wem § 6

In% e forend smutRanredt grn guia: wafda

& wEe £
(a) QAT d% (b) 3HEE a5
(c) =3i% T (d) s 7

UGC NTA NET/JRF Shift- I1, Set-04 June 2019
Ans. (d) : FTATEE 9% 0 39 9 9 99 {3 9 |
fo 3w W frerd st gwr quia: wwfda 21 9
# fo wir § v @ s J6 9 SR § MR
T fht ffeem fred @ g o &, e @
Fae &1 A U e @ @ S @ d-
1. @t e S )
2. W A
3. 3 uw o wworslie g
208. 3W aF H Ugww Ftwg fawd awae
w7 a1 | e STUTareT o
3T TVITAT ST Wehell &1
(a) FrmgTeE @ (b) ANHTHS w6

I ety # Proafafea @ faw yen = 9 (c) oERE 7 (d) TEYEEE T
fafem &2 UGC NTA NET/JRF Shift- 1, Set-07 June 2019
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FEITIE IR AT F A AT AR &) g
N E A R EC ER I G i Eea i |
T & SR W fEd ffrea e w o o 2,
ForeTone o w21

209.

In which of the following instances, deductive
argument is invalid?
frefafaa ¥ 9 faw g § s 7@
&7
(a) When its premises and conclusio
false
T THE AT A
(b) When its prefyi
EE e
e its

a F IR A w1 8wy e em g
d) Wheni its premises are false and conclusion is tm:.
T TF IR 9EE TeE € Wy ey wh €

UGC NTA NET/RF Shift - 1, set-7 21 Dec 2018
Ans.(c) : FmAorE wF 3gu ™R @ wEW 8 T
e G & 3R amg w6 & 9 P e
2 frmeerens w4 Al T o @ 2 g ww oA
afus FR AW FT4A & 3R W falge freest
w wga am 1 frEmE ad @ ovE 3@
freaferfiga 2-

(i) Tft TgeT T &

(ii) T 7=

H: BET FHAAT F W T W I8 Fal o Al ©
5 T o w wonefie f

210.

forerd w+f = &)

In a valid deductive argument, if the premises
are truc, then.

fordt @y Prraamares @ o afe smuraraa |wd
ﬁr?ﬂ_
(a) Coneclusion must be [alse
e sravd arme @ TfRw
(b) Conclusion can be probably true
e dvam: a9 @1 gd E)
(c) Conelusion must be true
e wfards: o1 & i
(d) Conclusion may some times be true
forspd di-=ft weg &1 HEa 2
UGC NTA NET/JRF Shift - 1, set-5 20 Dec 2018
Ans.(c) : 32 fRft au fammmers 7 7 smmaEa T8
gt fed sifarda: wea @ arfeu E6ifE Grreamr
o ¥ amEEE & R W f frsed @ swfa @ @
gufery afe smar aw g gan ar e sifarda: o
1 & e S9-9e R fefata 8-
a. @il T A8 &1
b U9 UF wE 21
34 YaR A7 &F1 MR 999 99 @ ol Figd ' F o
frrsef: 29 97 @@ wad ¢ f& I oft 9w 2)

Ans : () RS @ $ 39 Qe a9 9 J|[ 201

g AT Weh & T gt -
(a) ﬁv&mﬁt{gﬁawéﬁ
(b) Fread & fer i 3

%wﬁﬁmma\;ﬂﬁwm
mmwmﬁﬁﬁfmﬁﬁﬁm

212. frToaTeRs weh G gian § afe

(a) MR G 37WE HI A= o 8

(b) 3R AT 3T S fased off s En

(c) 3R a9 T 3R s s @

(d) 38R g 79 3R frsd 3w 8

UGC NET/JRF June 2009

Ans: (d) s °F g 1 f9em & 9 0F T
2 fomerers 7 o yEe fag & W En @ am
T & Ievq WE 1 Sffdfan & =9 § qeG 79 W
fft Fam & =@ & afF= 9 w9 & drg w@da @
yiofaftan g 8 s 3 el & d9 o oam
T i e &1 e W En @ am A 9 osgte @
yfafafaa wfas & @ 2 & fmees fad § & o
F fmi &1 aem fEat om: Bemees o 9y a9 8
Ifz 3R S T iR e o @ anifee T En
213. TTHTes ok o e

(a) HTEI STl & AT 2

(b) IR T W AfrEda: smafE T4 & 2l

(c) HTU TRl T gfed g 81

(d) 3R i § afafEa g @

UGC NET/JRF June 2009

Ans: (c) FmAmTs @ 39 S smaR § AR e
F A9 TH ETgS FE & T YR §F & I9l |
AR T T T E
ad: fermoareTs 5 SuR Tl | widd 2@ g
214. FrTaaTes ek @ |l & ¢
(a) TATE T
(b) e faar
(c) miE=® gm=mg @
(d) T YA: SHEAEHA

UGC NET/JRF Dec 2009

Ans: (¢) A o 1 aifds om= g @ adifE

™ aF § wed fmndl & wom fogr @1 v

A € Au I9F gum fafs Emwl 2 g faert @
fasfog f s &)

215. va el ad o fend oifew w0 ¥ arof

IMTeRT /3RS & TRuTREsY 3y |

ag o frafeiad o | @41 FEer §7
(a) THIT TH (b) SIS T
(c) e a (d) FGvaEH 7
UGC NET/ARF Dec 2013
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Ans: (r]ﬁ'thFIFq'q'-??ﬁk (Deductive Arpument) -
I @ FHATHE @4 (Inductive Argument) @1 faudia
? o o o @ aee @ fafae @ iR w@m
Fr = &1 g fommdt & wope vee fegr @ s
fem w1 € AW IWE ume fafim SEmC T o
fagr=it @ feuw fEm @ 81 fAmrs @ 3w
Fenall & ag famfdgi F1 fow 3wt

216. et o Wihe gt o e g T R

UGC NET/MRF June 2014
s: (c) HAIEF qfh 38 Fa o1 @ Forad frd
forg #%1 % 70 TR T Fo T@ WO EA @, W
frered A WA W AR T R, W AEA wEm e
adl
frsd & fou e o @i &1 3uR a9 g2 2 S
Ifh # OF A1 HWUE IR T @ FEA 2, T MR
aF vd frad 36 & @ m @ gfE "l e 4
fremd & fmr smm amE @9 W gfw T Fwemo
frerd @9 W AR I A @ @ gf wea @
few o sER fred o st § fae 21
217. frifera o 9 =19 U WE oA a9 @
FTE E—
(a) & & wler & Rl @0 A" I 9E faem
S Fel A J A4 911 Fad e wien
3R A" IZ W FH
T TH-HT F T U ° 24 3 e 9w
H 14 fiEl &1 W -9 0 FE 9 A
&1 gofe 0 w7 38 Wi 2
ZEfan @E6a T & fau mEr 16 9§ &
A wfeu) W Fa 16 9 &1 @ Swm =
31y o Fn @lis g% g
i W fava wifn & oy § &1 omEEd
favawifa & war T W@ FEEId A
F@ &
UGC NET/JRF Shift - 1, set-3 19 Dec 2018
Ans :(b) ¥ 5= & T Fmes @k § smananeEt @i
T oA foa s & s Freed siferds: smaaEE |
HaFAr 8| 3: fa@ed (b) #- W IF-FE & F90 9eF d
24 3R fer I # 14 W @1 W g A e
a2 iy W ogEsw § 3R @ 21 m
e 7 21

(b)

(c)

(d)

218. Under which of the conditions an arpumgent
may he valid? Sclect the correct a P’;im
the code given below :

e ufiftafaai o us 8?

ﬁqw%ﬁﬂé
State
A

ohclusion and premises are true.

(1 |
: ferd 3R smym-arE wd A
J Even when its conclusion and one or more of

its premises are false.
7 59 gEe fad i @ sad o
HYR-T1 T &4 81
(3) Only when its conclusion is true,
ok it 77 fr=d wél 7 )
Code: 7/ & :
() (1)and (3)/ (1) 3 (3)
(b) (1) alone / T (1)
(c) (1) and (2) 7 (1) 3T (2)
(d) (3)alone / T (3)
UGC NET/JRF Shift - 1, set-9 22 Dec- 2018
Ans. (c) : frd @ fag &4 & [ 99 marEEy
Fifeea sy s e €, @ 30 a9 ghE Fwd d-
(1) 51 5% frsrd 3R smumaa wd @
(2) @ ot v@ TEs Fed R ww @ TEa e
IYRETF TEA & & |
219. Analysis is cither pure or applied mathematics.
Only those branches of mathematics come
under pure mathematics which do not use
assumptions outside of its realm. Differential
analysis uses dilferential calculus. Differential
analysis is not pure mathematics. Since analysis

does not use assumptions outside of its realm,
so it is pure mathematics. The conclusion thus

drawn is :
fargeiaor ar &1 Vg A1 WGk T g1 i @t
Hae 9 VITETE Y T & I et § S
WO AT F AET F WEAATHAT H IqANT TG
Fd £ we faveun s &1 Iudm Sd
= €1 Fe faveraor g e = ) <l
faveaur 3rqx @9 & AR @ WAl @
Iudnt FE waT §, JAfe Uy v i 139
vy T Tan ey §:
(a) deductive FAMEA (b) inductive/3THT
(c) collective/AMfg®  (d) descriptive/avi-ios
CG SET 2018 Paper-I
Ans. (a) : frmm fafa, anfds favemm & @@9 qoh
fafa 2, 3= &ff & Fofs, favamm, s 6fa snf
3HF A A S S ) 39 §f e fafy § arne @
fafore & 3t @5 w0 &, i A9 W & AER W
fafere w0 &1 @ 31 9 &)
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